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IMACHOPT

POHJA OHEHOYHBIX MATEPHUAJIOB 11O JIUCHUIIJIMHE

OI'CD.03 Unocmpanubsiil 361Kk 8 NPOGeCcCUOHAIbHOU 0eAmeabHOCU (AHSAULCKULL)

HaMMCHOBaHHUC NJUCHUIIIINHBI

Kontpoanpyemsie Kon Cnoco0 oneHnBaHus OueHo4HOE CPEACTBO
pa3feJibl JUCHHUILIHHBI KOHTPOJIUPYeMOii
KOMIIETEHIIUH
Cemectp 1 OK 01 Omnpoc Ha MPAKTUYECKUX | YIpaXKHEHUs.
OK 02 3aHATHAX. YceTHbll onpoc.
OK 04 AHanm3 pe3ynbTaToB HAOIIOACHHS
OK 06 3a JEATENbHOCTBIO CTYIEHTOB B
OK 10 mporecce BBITIOJTHEHUS
YOPaXHEHUH Ha IPAaKTHUYECKUX
3aHATHUSX.
Cemectp 2 OK 01 Omnpoc Ha MIPaKTUYECKUX | YIpaKHEHUS.
OK 02 3aHATUAX. VYcrHbI# onpoc.
OK 04 AHanu3 pe3yabTaToB HAOMIOICHHS | 3alaHus i
OK 06 3a JEATENbHOCTBIO CTYJIEHTOB B | IIPOMEXYTOUYHOM
OK 10 rporiecce BBIIIOJIHEHHS | aTTECTAIHMU.
YIPpa)KHEHNH Ha MNPaKTHIECKUX
3aHATHUSX.
3auer
Cemectp 3 OK 01 Omnpoc Ha MPaKTUYECKUX | YIpaKHEHUS.
OK 02 3aHATHAX. YerHblii onpoc.
OK 04 Amnanus pe3yspraToB HaOmoneHus | Ponesas urpa.
OK 06 32 JIEATENbHOCTBIO CTYIIEHTOB B
OK 10 mporiecce POJIEBBIX urp,
BBITIOJIHEHHUS ~ YIPQ)XKHEHUH Ha
MPAaKTHYECKUX 3aHSITHSIX.
Cemecrp 4 OK 01 Omnpoc Ha MIPaKTUYECKUX | YIPaKHEHUSI.
OK 02 3aHATUSAX. YcrHbli onpoc.
OK 04 AHanu3 pe3ynbTaToB HaOMIOAeHus | 3amaHus JUTSt
OK 06 3a JEATENIbHOCTBIO CTYAEHTOB B | MPOMEXKYTOYHOH
OK 10 rporiecce BBITIOJIHEHHS | aTTECTaIUMU.
YOpaKHEHHH Ha MPaKTHYECKUX
3aHATHUSAX.
3auer
Cemectp 5 OK 01 Omnpoc Ha MPaKTUYECKUX | YIpaKHEHUSI.
OK 02 3aHATHAX. VYcTHBIi onpoc.
OK 04 AHanu3 pe3ynbTaToB HabmoaeHus | PomeBas urpa.
OK 06 32 JICATENHHOCTHIO CTYIIEHTOB B
OK 10 mpouecce POJIEBBIX urp,
BBITIOJIHEHUS ~ YNPa)XHEHUH Ha
MPAaKTUYECKUX 3aHATHSIX.
Cemectp 6 OK 01 Ompoc Ha MPaKTUIECKUX | YTpaKHEHUSI.
OK 02 3aHATHUIX. 3ananus IS
OK 04 AHanu3 pe3ysIbTaToB HAOMIOIEHHUS | IPOMEKYTOTHOM
OK 06 32 JEATENIbHOCTBIO CTYAEHTOB B | aTTECTAllUU.
OK 10 mporecce BBIITOJTHEHUS

VOPaKHEHHH Ha MPAKTHYCCKUX
3aHATHUAX.
3auer




OIEHOYHBIE MATEPHAJIBI TEKYIIEI'O KOHTPOJIAA YCIIEBAEMOCTH

| CEMECTP

Tema 1

Ilepevyens 3agaHui 1JIs1 KOHTPOJIBLHOTIO OIIPOCA 10 TeMe
KommiekT 33[[31-[1/117[ H KOHTPOJIbHBIX BOIIPOCOB 110 TPAaMMaTHKE

3ananue 1. Give the plural of the nouns listed below:

A.

dish, inch, toy, bus, city, knife, leaf, tomato, bath, family.
B.

child, mouse, goose, swine, foot, ox, fish.

C.

datum, radius, nucleus, memorandum, stratum.

3anmanue 2. Give the singular of the nouns listed below:

A.

wifes, judges, boxes, plays, cities, heroes, chiefs, factories,
papers, countries.

B.

women, teeth, mice, children, firemen.

C.

theses, formulae, media, criteria.

3amanue 3. Translate into English:

OBIIBI, PPYKTBI, BOJIOCHI, BOPOTa, HOBOCTH, MPOXOXKHUE, HEBECTKH,
CoJlepKaHue, yCIexXu, TOBap, MaTeMaTHKa, OWIIbIPH, 3HAHUS, ICHbIH,
HCIIPUATHOCTHU, UCCIICAOBAHUS, OACKAA, COACPIKAHUC, BEChI, 3apIljiaTa,
OKpaWHa, OYKH, CTATUCTUKA, CICIHS, PBIObI, IIIaXMaThl, O€JIbe MOCTEIBHOE.

3ananue 4. Choose the right answer:

1. The criteria for promotion ... clearly stated.

a) are b) is ¢) was d) has been

2. Her clothes ... very trendy and fashionable.

a) are b) is c) has been d) was

3. Your advice ... very timely.

a) were b) are c) is d) be

4. His ... of German ... very limited.

a) knowledges, is b) knowledge, are

¢) knowledges, are d) knowledge, is

5. The news ... very interesting.

a) is b) are c) be d) were being

6. The contents of the letter ... unexpected.

a) were b) are ¢) was d) have been

7. The scissors ... here a minute ago.

a) was b) are c) were d) is

8. The class ... working on their individual projects today.
a) is b) are c¢) to be d) is being

9. Statistics ... a science which ... with the collection, organization and



interpretation of numerical ... .

a) are, deal, datums b) are, deal, data

c) is, deals, datas d) is, deals, data

10. All Jane's money ... on food and rent.

a) go b) goes c) were going d) were gone

11. Supernatural ... are of great interest to many people.

a) phenomenons b) phenomenon

¢) phenomena d) phenomenas

12. The ... in the aquarium ... waiting for their daily feeding.
a) fishes, are b) fish, is c) fishes, is d) fish, are

13. Weeatalot ... and ... in summer.

a) fruit, vegetable b) fruit, vegetables

c) fruits, vegetables d) fruits, vegetable

14. The goods ... just arrived.

a) has b) is c) have d) are

15. His team ... for Italy and now the team ... hard for the coming
match.

a) plays, is training b) play, are training

c) plays, are training d) play, was training

3az[amm AJIl KOHTPOJIA IOHUMAaHUA TEKCTa
Read the text and answer the questions:
Why is studying at college different from school?
Do you believe that time management is an essential skill at college?
What are the main assessing methods at college?
What is the aim of a report?
In what way does a report differ from an essay?
What is a final year project at college?

o gk whE

Tema 2

IlepeuyeHsb 3a1aHNH 111 KOHTPOJBHOI'O ONPOCA 10 TeMe
KommuiekT 3a1aHuii 1 KOHTPOJILHBIX BOIIPOCOB MO0 I'PaMMAaTHKeE

3amanue 1. Write the degrees of comparison of the following adjectives:
cold, important, bad, warm, precise, early, hot, sensitive, happy,
little, many, full, few.

3amanue 2. Read and translate the proverbs. Produce their Russian equivalents:
. Actions speak louder than words.

. Prevention is better than cure.

. The best doctors are Dr. Diet, Dr. Quiet and Dr. Merryman.

. Learning makes a good man better and a bad man worse.

. Of two evils, choose the least.

. Good-better-best. Never rest. Till “good” is “better” and “better” is “best”.
. The difficult is done at once; the impossible takes a little longer.

. A man is as old as he feels, and a woman as old as she looks.

. It is better to be the best of a low family than the worst of a noble one.

10. A silent tongue and a true heart are the most admirable things on earth.
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3amanue 3. Choose the right answer:

1. He bought ... sports car out of all available in the market.

a) the expensivest b) expensive

c) the most expensive d) most expensive

2. To study at university is ... than at school.

a) difficult b) more difficult ¢) difficulter d) more difficulter

3. We arrived ... than he expected.

a) earlier b) earliest c) early d) more earlier

4. She is a ... player than me.

a) best b) good c) better d) gooder

5. Moscow is one of the ... cities in Europe.

a) most beautiful b) beautiful ¢) more beautiful d) beautiful

6. Novosibirsk is much ... than Rubtsovsk.

a) more big b) the biggest c) most bigger d) bigger

7. That’s ... I can do for you.

a) less b) little c) as little d) the least

8. Because the family is very poor, the children have ... clothes.
a) few b) little ¢) a few d) a little

9. Today is ... than yesterday.

a) more sunny b) much sunnier

c¢) more much sunnier d) much sunny

10. ... Opera House is ... building I’ve ever seen.

a) The Sydney, most spectacular b) The Sydney’s, most spectacular
¢) Sydney, the spectacularest d) Sydney’s, the most spectacular

3ananus AJs1 KOHTPOJIS MOHMMAHUS TEKCTA MO0 CeNHaTbHOCTH
Answer the following questions:

What has mankind been interested in for ages?

Why is it so uneasy to understand electrical phenomena?

What theory is used to identify the nature of electrical current?

What happens to an atom if an electron is taken away and vice versa?
How can electricity be defined?

agprwbdeE

Tema 3

IlepeuyeHsb 3a1aHNH V151 KOHTPOJBHOI'O ONPOCA
KoMmuiekT 3a1aHiii 1 KOHTPOJILHBIX BOIIPOCOB 110 TPAMMAaTHKe

3amanue 1. Write answers to these problems:

1.23and 44 is ... .

2.22 times 8 is ... .

3.8 minus 20 is ... .

4. 65 divided by 13 is ... .

5. Add 10 and 6, multiply by 8, then subtract 40 and divide by 11. What have you got left?

3amanme 2. Answer these questions. Write your answers in words:
1. When were you born?
2. How much do you weigh?



3. What is the number of the flat or the house where you live?

4. |Is that an odd or an even number?

5. What is the approximate population of your town?

6. What is the population of the Russian Federation?

7. How far is it from your place to Moscow?

8. How much is a scholarship at your Institute?

9. Do you travel first class?

10. M. Lermontov was born in 1814 and killed in 1841, wasn’t he?

3amanme 3. Write these numbers and dates:
two thousand fifteen, nineteen fifty-two, eighteen hundred five, seventeen forty-six, the third, twenty-one, three
million six hundred, thirty thousand two hundred and forty-nine.

3ananue 4. Translate into English:
CTO JIBA/ILIATH MSATh KapaHAaIlIeH, TPUCTa COPOK PYOJICH, CTO MATHIACCAT ACBATH THICSIY KUTEJICH, IBECTU
MUJUTMOHOB KBapaTHBIX MeTpoB, 20 okTsi0pst 1814 roga, 1 centsaops, 12 urons 1993 roxa.

3anmanue 5. Read and translate the sentences. Comment on the words in bold type:
. Just between you and me, it is top secret.

. He wanted her to go to the cinema with him.

. Who is there? — It is | (me).

. I don’t want any partners. I want this business to really be mine.
. Is there any place for me in this heart of yours, Jane?

. The responsibility is ours.

. Will you share your point of view with them?

. The future is hers, don’t let them take it from her.

. Everything | have is yours.

10. Theirs was a true love story. It was a perfect match.
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3anmanue 6. Insert pronouns and underline the words which they replace:
1. The fax has been received. ... is on your desk.

2. Who told him the news? — Not ... .

3. Who is that? — ... is my sister. She works here.

4. —Helen has had a baby. —Is ... a boy or a girl?

5. The offer we made solved her problems as well as ... .

6. Please take these food scraps and give ... to the dog.

7. ... is an informational culture. We worship information.

8. I have a few cars, but I really don’t need ... .

9. Bob and I smiled at each other. ... smile was a affectionate as ... .

10. Maggie has got into a mess again! I sure wouldn’t want to be ... tonight.

3ananue 7. Read and translate the sentences. Comment on the use of pronouns:
. This is a new dictionary.

. That is my life.

. That was not my idea.

. That was a good time.

. Can you see those men?

. Who are those women?

. This is a sheep and that is a deer.

. These are golden fish.
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9. Those years were lucky ones.
10. We’ll never forget those years.
11. Give me these pears, please.

3anmanue 8. Use the right form of the pronouns this or that:

. ... shoes are of the best quality.

. I’ll sign all the papers ... morning.

. We can meet at 10.30. — ... will be fine.
... way, sir”.

. The prices ... days are absolutely astronomical.

. ... dress we saw in the shop window was from Paris.
. People were helpless against nature in ... ages.

. ... pictures remind me of you, especially ... one.
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. ... was a wrong thing to do.
10. ... particular students are extremely bright.

3anmanue 9. Replace the words in bold type with objective pronouns:
. He knows this girl.

. They work with (1).

. We met this man in the dining room.

. | often see the students here.

. 'You know (we).

. We speak to these girls sometimes.

. Your friend keeps his books on the shelf.
. | read this newspaper in the evening.

. We write these exercises at home.

10. They help (we) to learn the language.
11. We showed the boy some pictures.

12. He tells the students about the news.
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3ananus AJ151 KOHTPOJIS MOHMMAHUS TEKCTA M0 CHEeNMATbHOCTH
Read the text and answer the following questions:

What is current?

What types of currents do you know?

When does a direct current flow?

What type of current is called an alternating current?
What type of current is called a direct current?

g wbdeE

Tema 4

Ilepeuyensb 3a1aHNi 1JI1s1 KOHTPOJBLHOIO ONPOCA
KoMILIeKT 3a1aHuii 1 KOHTPOJIbHBIX BOIPOCOB 110 IPAMMATHKeE

3amanue 1. Comment on the use of the Present Indefinite:
1. Wisdom comes with age.

2. Moscow is the capital of the Russian Federation.

3. Students attend a lot of lectures during each term.

4. She thinks that English Grammar is not easy.



5. Every generation has its way.

6. | read local papers every week.

7. My mother doesn’t like it when we sit up late.

8. The beauty of the Internet is that you can get virtually anything that your mind requires.

3anmanme 2. Use the right form of the verbs in brackets:

1. My grandmother (be) very old, but she (hear, see and understand)
everything quite well.

2. What he (do) for a living?

3. We (be) first-year students.

4. Time (heal) all wounds.

5. An apple a day (keep) the doctor away.

6. A good wife (make) a good husband.

3ananue 3. Read and translate the following sentences. Explain the use of the
Present Continuous/Progressive:

1. Ann is having lunch in the canteen at the moment.

2. Family life is changing rapidly.

3. I can’t understand what you are driving at.

4. John plays tennis every day. Now he is playing tennis with Mary.

5. Why don’t you believe me? I am telling the truth.

6. In my native town I live in a cottage. Here, in London, | am staying in a hotel.
7. Look! The sun is rising.

3ananue 4. Use the right form of the verb in brackets:

1. We still can’t understand what he (talk) about.

2. Today many countries (face) economic and political problems.
3. We not (get) younger with the passing of time.

4. Hello, is that him you (look) for?

5. You (look) terrible, Jim. What’s the matter?

6. It is so urgent, that’s why I (ask) you to help me.

7. What you (do) now? I (play) tennis.

3ananue 5. Read and translate the following sentences. Explain the use of the Present Perfect:
1. The production of food stuffs has greatly increased in Altai Region recently.

2. Russian scientists have discovered many secrets of nature.

3. Have the achievements of our science helped to raise the living standards of the people?

4. | have not been to Great Britain yet.

5. This week the instructor has not permitted us to climb that mountain.

6. Have you ever seen a ghost?

7. The country has made enormous progress lately. The President has done so much good.

3anmanue 6. Use the right form of the verbs in brackets:

1. He (be) my friend for thirty years and still is loyal, devoted, staunch and wise.
2. Where you (be) all this time? | (miss) you terribly.

3. Life not (be) kind to me.

4. People not (change) much over the centuries.

5. You (hear) the latest news?

6. | never (see) her before.



3amanwne 7. Form the Past Indefinite/Simple of the following verbs:
to find, to get, to give, to read, to begin, to mark, to know, to make, to speak, to spend, to see, to publish, to
keep, to print, to think.

3ananue 8. Make the following sentences interrogative and then negative:
1. You visited your friend last week.

2. The newspaper came out yesterday.

3. She asked her brother about it.

4. We went to Moscow two weeks ago.

5. They knew about the meeting.

6. We discussed that issue the other day.

3ananue 9. Comment on the use of the Past Continuous/Progressive in the

following sentences:

1. To have a frank talk | asked him what he was doing in London.

2. When she came back to the office, the manager was still studying the Draft Contract.

3. Summer was slipping away, day by day.

4. When | entered a Pizza Hut, all around me people were eating pizzas the size of bus wheels.
5. Maxim’s jaw dropped, he was unable to absorb the things he was hearing.

6. Diana and | were sitting in the library on Sunday morning, reading the newspapers.

3ananue 10.. Use the right form of the verbs in brackets:

1. What you (do) when | (call) you? You (sleep) or what?

2. She looked out of the window and saw that the children (return) slowly from school.

3. The young couple next to me (discuss) their plans for summer vacation — where to go to.

4. When we (meet) for the first time, she (work) as a waitress in a café.

5. We (have) a very exciting holiday. We (play) tennis, (visit) friends, the children (swim) and (sunbathe).
6. What you (do) at 7 o’clock yesterday?

7. While my mother (knit) mittens, I (do) my homework.

3anmanue 11.. Comment on the use of the Past Perfect in the following sentences:

1. We had discussed the news and were now thinking about it.

2. It turned out that Dick was ill and he had been ill for a fortnight.

3. No sooner had he opened the door than the children rushed to meet him.

4. Hardly had I turned on the television, when I heard shocking news.

5. He learnt that they had been friends for many years.

6. When I came back home, my family had already had dinner and were watching television.

3amanue 12. Use the right form of the verbs in brackets:

1. Tom (return) from the cinema by five o’clock.

2. He (think) that he (lose) the money.

3. The prisoner (spend) almost a month digging a tunnel before the
guards (discover) it.

4. John and Pamela were the only family she ever (have).

5. Ann (tell) me that she (see) an interesting film.

6. Before we (come) to the station, the train already (leave).

7. 1 (know) that my friend not yet (come).



3amanue 13. Form the future form of the following sentences:
1. I agree with you.

2. He welcomes your proposal.

3. They need her help.

4. My friends offer their services.

5. We work together.

3anaHus AJ151 KOHTPOJIS MOHMMAHUS TEKCTA M0 CHeNNATbHOCTH
Read the text and answer the following questions:

What type of circuit has the main line and parallel branches?

What type of circuit is used in order to have the same value of current in all the elements?
What type of circuit is used in order to have the same value of voltage in all the elements?
What does a trouble in the main line result in?

What does a trouble in a branch result in?

What does no current in a series circuit result from?

What is the difference between series and parallel circuits?

No ok~ wbdE

Il CEMECTP
Tema 1

IlepeuyeHsb 3a1aHNH V151 KOHTPOJBHOI'O OIPOCA
KommiaekT 33)]21H]/Iﬁ H KOHTPOJIBHBIX BOIIPOCOB 110 rPAMMAaTHKE

3amanue 1. Choose the correct answer:

1. Bill ... hockey this season; he wants to devote much more time on

his studies.

a) doesn’t play b) hasn’t been playing

¢) isn’t playing d) hasn’t played

2. How long ... you ... this car?

a) have, had b) do, have c) are, have d) are, having

3. Andrew is a mechanical engineer; he ... to the opening of every industrial exhibition in the city.
a) is going b) has gone c) has been going d) goes

4.1 am tired. We ... for more than an hour. Let’s stop and rest for a while.
a) have worked b) have been working c) are working d) work

5. We ... two matches so far this morning and we ... the third yet.

a) play, don’t finish

b) have played, haven’t finished

c) are playing, haven’t finished

d) have been playing, haven’t finished

6. Why ... ?

a) the girls are crying b) are crying the girls

c) the girls crying d) are the girls crying

7. He ... to India.

a) often has been b) has been often c) has often been d) is often

8. The government is worried because the number of people without jobs ... .
a) is increasing b) had increased

10



¢) has been increasing d) increases

9. Alina, my group mate, has a TV set, but she ... it very often.

a) hasn’t used b) hasn’t been using

¢) isn’t using d) doesn’t use

10. Who ... you this dictionary?

a) bought b) has bought c¢) had bought d) has been buying

11. My friend graduated from the Institute in 2014. He ... at a factory since then.
a) works b) is working c¢) has been working d) has worked

12.1... local papers from time to time.

a) am reading b) read c) have been reading d) have read

13. You are the tenth patient that I ... for this disease.

a) treat b) have been treated

c) have treated d) have been treated

14.1... “To have and have not”. The book is very interesting and I advice you to read it.
a) read b) am reading c) have read d) readed

15. Recently I ... to the Drama Theatre.

a) go to b) am going to ¢) have been to d) has been to

3ananue 2. Choose the correct answer:

1. While father ... a newspaper, mother ... lunch in the kitchen.
a) read, has been cooking b) was reading, cooked

¢) readed, was cooking d) was reading, was cooking

2. What ... you ... the whole evening?

a) did, discuss b) were, discussing

¢) had, discussed d) had, been discussing

3.1t ... for a long time, when we ... home.

a) had been snowing, left b) was snowing, left

¢) snowed, were leaving d) snowed, had left

4. He ... all of the computer games and ... to do something different.
a) had been playing, wanted b) played, wants

¢) had played, wanted d) had played, had been wanting

5.1... my uncle until he ... us last year.

a) hadn’t met, visited b) didn’t meet, had visited

¢) didn’t meet, visited d) hadn’t met, had visited

6. This time last year I ... across Italy.

a) traveled b) was traveling

¢) had traveled d) had been traveling

7. By the time the Browns ... home, the kitchen ... .

a) returned, had painted b) had returned, was painted

¢) had returned, was being painted d) returned, had been painted
8. My parents ... a new car last week.

a) have bought b) were buying c) bought d) had bought

9. I can hardly remember it. It ... long ago.

a) was happening b) happened

¢) had happened d) had been happening

10. The engineer ... the machine tool which we ... for several hours.
a) had examined, were testing b) examined, had been testing

¢) examined, were testing d) examined, tested

11. In 1969 people ... on the lunar surface for the first time.

a) was walking b) had been walking



¢) had walked d) walked

12. Both boys were very tired, they ... football for two hours.
a) were playing b) played c) had been playing d) had played
13.1... Steve when we ... in Oxford.

a) have met, studied b) met, were studying

¢) had met, had studied d) met, had been studying

14. The war film we ... yesterday ... me very much.

a) watched, impressed

b) were watching, had impressed

) were watching, was impressive

d) have watched, has impressed

3anmanue 3. Choose the correct answer:

1. I don’t know what he thinks about it, but I ... him.

a) am asking b) will have asked c) will ask d) will be asking

2. Jason ... Russian for two years before he leaves Russia.

a) will learn b) will have been learning

c) will have learnt d) will be learning

3. She is spending her pocket money very quickly. So, by the end of the week she
a) will have spent b) will spend

¢) will be spending d) will have been spending

4. Mary ... the house before her husband comes home.

a) won’t have left b) won’t be leaving

¢) won’t have been leaving d) won’t leave

5. T will be back soon. I think you ... the leading article by the time | come.
a) will have been finishing b) will finish

c¢) will have finished d) will be finishing

6. According to the weather forecast it ... tomorrow all day long.

a) will snow b) will be snowing

c) will have been snowing d) will have snowed

7.You can’t see this film on TV tonight, they ... it only next Sunday.
a) show b) will be showing c) will show d) are showing

8. It is not clear if the weather ... for the better, and we want to know if
our plane will be late.

a) will be changing b) will have changed

c) will change d) changes

9. By the first of December this year I ... here for fifteen years already.
a) will be working b) will work

c¢) will have worked d) will have been working

10. By the time Mother comes home Bob ... all the cookies.

a) will have eaten b) will be eating

c) will eat d) will have been eating

11. The house ... for two hours when firefighters finally arrive.

a) is burning b) will have been burning

c¢) will be burning d) will have burnt

12. She is in the country now and she ... there for another week.

a) will stay b) will have been staying

c¢) will be staying d) will have stayed

13. They ... all the problems by the end of the meeting I am afraid.

a) won’t be settling b) won’t settle

... all of'it.

12



¢) aren’t settling d) won’t have settled

14. This time next week we ... in Africa.

a) will hunt b) are hunting

c) will be hunting d) will have been hunting

15. When Jerry enters a Medical school he ... Chemistry for more than
four years.

a) will have been studying b) will study

c) will be studying d) will have studied

3anamm AJIsI KOHTPOJIA IOHUMAaHUA TEKCTa

Answer the following questions:

Where do you study?

What are you going to become?

Why does your profession play a very important role in our society?

What competencies should a person have to make a good expert in the field?
Where do the graduates of your college usually work?

ok wbhE

Tema 2

IlepeuyeHsb 3a1aHNH 1151 KOHTPOJBHOIO ONPOCA
KommiaekT 33)]21H]/Iﬁ H KOHTPOJIBHBIX BOIIPOCOB 110 rPAMMAaTHKE

3aganue 1. Form the Past Indefinite/Simple of the following verbs:
to find, to get, to give, to read, to begin, to mark, to know, to make, to speak, to spend, to see, to publish, to keep,
to print, to think.

3ananue 2. Make the following sentences interrogative and then negative:
1. You visited your friend last week.

2. The newspaper came out yesterday.

3. She asked her brother about it.

4. We went to Moscow two weeks ago.

5. They knew about the meeting.

6. We discussed that issue the other day.

3anmanue 3. Form Participle II (V3) of the following Verbs:
to test, to spend, to buy, to feel, to sell, to report, to say, to visit, to
speak, to establish, to eat, to defend, to take, to give, to sleep, to ask.

3anmanue 4. Read and translate the following sentences. Explain the use of the Present Perfect:
1. The production of food has greatly increased in the Altai Region recently.

2. Russian scientists have discovered many secrets of nature.

3. Have the achievements of our science helped to raise the living standards of the people?

4. | have not been to Great Britain yet.

5. This week the instructor has not permitted us to climb that mountain.

6. Have you ever seen a ghost?

7. The country has made enormous progress lately. The President has done so much good.

13



3anmanue 5. Choose the right answer:

1. He ... his job last month and since then he ... out of work.
a) lost, has been b) lost, was c) lost, had been d) had lost, was
2. He ... some money two weeks ago. But I’m afraid he already ... it all.
a) has earned, has spent b) earned, spent

¢) had earned, had spent d) earned, has spent

3. John ... just a very interesting article but Ann ... it yesterday.
a) has read, had read b) has read, read

¢) had read, has read d) had read, had read

4. We haven’t seen this film ... and as to Jane, she saw it ... .
a) already, just now b) yet, already

c) yet, last month d) last month, yet

5. Have you read an economic article ... ?

a) already b) just c) yet d) by

6. Who ... the novel “Gone with the wind”?

a) did write b) wrote c¢) writes d) writting

7. You have never been to Great Britain, ... ?

a) have you b) haven’t you c¢) hasn’t you d) having you

8. Who ... Mary to find a new job? John did.

a) did help b) does help ¢) has helped d) helped

9. Have you written a report ... ? — Yes, I ... it two days ago.
a) yet, wrote b) just, have written

c) still, was writing d) already, has wrote

10. Last year she ... in Paris and this year she ... ... to Madrid.
a) has been, was b) was, had been c) was, has been d) was, was
11.He... ... yesterday morning. [ ... just ... about it.

a) doesn’t come, learnt b) didn’t come, have learnt

¢) hasn’t come, have leant

3anaHus 1J151 KOHTPOJIS NOHMMAHUS TEKCTA M0 CHEeNNATbHOCTH
Answer the following questions:

How can an electrical current be defined?

What pushes current around a circuit?

What is an ampere? Whom is it named after?
What is a volt? Whom is it named after?

What is an ohm? Whom is it named after?

What is a watt? Whom is it named after?

How can you get one watt?

What equation is used to demonstrate Ohm’s law?

N GOMWDNRE

Tema 3

Ilepevyensb 3a1aHUM J1JIs1 KOHTPOJIBLHOIO OIIPOCa
KommuiekT 3a1aHuii 1 KOHTPOJILHBIX BOIIPOCOB M0 I'PaMMAaTHKe

3anmanue 1. Choose the right answer:
1. I can’t see you Tuesday afternoon. I ... our London branch.



a) visit b) am visiting c) will visit d) is going to visit

2. You will pay back, as soon as you. ... a new job.

a) will get b) are getting c) get d) will be getting

3. You plane for Moscow ... at 8 p.m.

a) is leaving b) leaves c) have left d) had left at

4. What ... when you ... the university?

a) do you do, leave b) will you be doing, left

c) are going do, leave

5. They ... to a new flat next January.

a) will move b) have moved c) are moving d) will have moved
6.Ifit ..., we won’t go to the park.

a) will rain b) has rained c) rains d) will be raining

7. According to this timetable the bus ... at 10 a.m.

a) is arriving b) arrives c) will arrive d) has been arriving
8.1... Nick tonight, so I can give him your message.

a) am seeing b) see c) shall see d) had seen

9. We ... to have a good rest in January if we ... our winter exams.
a) be going, will pass b) will be going, will pass

C) are going, pass

10. The international trade fair ... on 17 December and ... on 12 June.

a) opens, finishes b) will open, will finish
c) is opening, will finish

3ananue 2. Choose the right answer:

1. Ifhe ... to our party, we ... very glad.

a) comes, shall be b) will come, will be

c) comes, are d) will come, shall be

2. The head of the administration says that the wages ... in 2015.
a) is doubling b) will double c) doubles d) has doubled

3. We ... to the theatre tonight.

a) go b) will go ¢) will have gone d) are going

4. We ... it tomorrow if he ... in the presidential election or not.
a) will learn, wins b) learn, will win

c¢) will learn, will win d) will learn, will be winning

5. From 1 till 7 September our town ... its annual cultural festival.
a) hold b) will be holding

c) will hold d) will have been holding

6. Quick! Give me a lift, I ... late again.

a) will be b) am going to be c) being late d) have been

7. The term ... on the 25th of June.

a) will finish b) will be finishing

¢) finishes d) will have finished

8. We ... lunch with his parents on Sunday.

a) are going to have b) will have c) have d) are having

9. What time ... the train ... at the station?

a) does arrive b) arrives c) will arrive d) is arriving

10. His parents will be upset ... .

a) till he won’t pass his exams b) if he doesn’t pass his exams

c) unless he will pass his exams d) unless he doesn’t pass his exams
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3anaHus AJ151 KOHTPOJIS MOHMMAHUS TEKCTA M0 CHeNNATbHOCTH
Answer the following questions:

What instrument is used to measure voltage?

What instrument is used to measure current?

What instrument is used to measure resistance?

How many terminals has a meter?

How should an ammeter be connected with other devices in a circuit?
How must the voltmeter be connected with the load to be measured?
Must electrical power be disconnected when using an onmmeter?

No ok~ wbdE

Tema 4

IlepeuyeHsb 3a1aHNH 1151 KOHTPOJBHOIO ONPOCA
KommiekT 33}]311]/117[ H KOHTPOJIbHBIX BOIIPOCOB 110 TPAMMaTHKE

3ananue 1. Translate into Russian:

. | must speak to you about my work.

. My friend can do this work in a day or two.

. May | ask you to repeat your question?

. You should defend your point of view.

. They couldn’t open the drawer in my desk as it was struck.

. A liar ought to have a good memory.

. Molly hesitated. Ought she to accept this present from a stranger?
. The report says that the country should think twice before joining the European market.
. David cannot do the work.

10. Fashions may be changing, but style remains.

© 00 ~NOoO hn D WN B

3ananue 2. Make these sentences negative and interrogative:
1. She ought to leave home immediately.

2. Your friends can wait for you.

3. We must play football tomorrow.

4. He should place an order for consumer goods.

5. He may suggest a realistic plan.

3amanue 3. Translate into English:

. Tl ymeenIs niuaBaTh?

. M0>xHO MHE B3STh TBOU BEJIOCHUIIEL?

. ThI TOJKEH MPOYHUTATH CTATHIO KO BTOPHHKY.
. [loBTOpUTH?

. Bam cnenyer 3akoHUHTE 3Ty paboTy.

. 51 BOJKEH OCMOTPETh 3TOT (YUIIBM.

. OH HE CMOT TTOHSATH 3TOT paccKas.

. OTO AOIKHO OBITH MHTEPECHO IS HAC.

O 0 9 N D b W N~

. Bam He Hy»)HO 0€CTTOKOUTBCS 00 3TOM.
10. Bel MokeTe 70OpaThCs Tyaa OC3I0M.
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3ananusi AJ1s1 KOHTPOJISI MOHMMAHUS TEKCTA MO CHeNHaIbHOCTH
Answer the following questions:

What is used to produce and supply electric energy?

Which elements does a cell consist of?

What is the function of the terminals?

How must the cells be connected in order to increase the voltage output?
How must the cells be connected in order to increase the current output?

aprwbdE

Tema 5

IlepeuyeHsb 3a1aHNH 1151 KOHTPOJBHOIO ONPOCA
KommiekT 33}]3111/117[ H KOHTPOJIbHBIX BOIIPOCOB 110 TPAaMMaTHKE

3amanme 1. Choose the right answer:

1. Bicket ... sell pencils because he had no other means to earn a living.
a) must to b) had to c) had d) was

2. On the next day she ... to come at half past two.

a) must b) had to c) was able to d) was

3. T hope you will ... to consider our papers next week.

a) be b) be able c) are able d) are allowed

4. But he ... to finish history.

a) couldn’t b) must not c¢) was not allowed d) can be allowed

5. Economics ... to have the closets connection with economy.
a) is b) are ¢) must d) had to

6. It is clear to anyone that that some changes will ... to be made.
a) has b) are c) have d) can

7. We ... to do that work.

a) must b) were unable ¢) unable d) could not

8.1 ... to have two fillings when I went to the dentist last week.
a) has b) have c) had d) should

9. They ... to see the garden through a gap in hedge.

a) were able b) was able ¢) might d) must

10. We ... work tomorrow — it’s a holiday.

a) must not to b) don’t have to ¢) will not to

3anmanue 2. Translate into Russian:

. He got up early yesterday as he had to go to the railway station.

. Our plan will have to be changed if the director doesn’t approve of it.
. They will be able to start at once.

. The experiment is to be conducted at 5 o’clock.

. You are to tell us about your plan.

. The students will not be allowed to use dictionaries at the English examination.
. You’ll have to see a friend of mine who is an actor.

. When Andrew is eighteen he will be allowed to drive a car.

. You will not be able to see him before Sunday.

10. We shall be allowed to go home earlier, if we pass a driving test.

©O© 00 3O O~ W N -
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3anmanme 3. Use the right form of the verb in brackets:

. Tomorrow we (momkHsI) to meet our relatives from Moscow.

. I (momxen 0b11) to do it because there was no other way out.

. We (ae cmoxxeMm) to consider all those problems today.

. Will she (6yner mo3BoseHo) to use this method in her research?
. They (mpumutocs) to stay here for a few days more.

. I don’t know if the students (cmoryT) to handle the new equipment.
. The agreement (nomxHo ObITE) to be fulfilled.

. I think I (cmory) to come tomorrow.

. She (paspemrar) to leave hospital next week.

10. We (mmo3BossT) to view the new collection.

O 0 3 N i W N~

3a)lamm AJIA KOHTPOJIA MOHUMAHHUA TEKCTA 10 CIENUAJIBLHOCTH
Answer the following questions:

What is one of the main elements of the circuit?

What is the purpose of a capacitor?

What is the function of a capacitor?

What effects the capacity of a capacitor?

How does a fixed capacitor differ from a variable one?
How is the capacity of a capacitor regulated?

What insulators is a variable capacitor made up of?
When should a capacitor be replaced?

©No MDD RE

Il CEMECTP
Tema 1

Ilepeuyensb 3a1aHNi V151 KOHTPOJBHOIO ONPOCA
KommuiekT 3agaHuii 1 KOHTPOJILHBIX BOIIPOCOB MO0 I'PaMMAaTHKeE

3anmanue 1. Choose the right translation into Russian:
1. They were told that ...

a) Onu ckasanu, 4to ... b) Im ckazanu, 4To ...

¢) M roBopsT, uto ... d) OHE cOOOIIMITH, YTO ...
2. The passengers wanted to be informed about ...
a) [Taccaxxupsl X0TeNnn COOOIIHTS ...

b) MMaccaxxupam xoTesI COOOIIUTS ...

¢) [Maccaxupsl Xx0TeNH, 4TOOBI UM COOOIIMIH ...
d) Maccaxxupam X0TENOCH COOOIIHT ...

3. The conditions are provided for ...

a) bpu mpeycMOTpeHs yCIIoBuS ...

b) [IpexycmoTrpeHo ycnoBue ...

) BynyT npexycMOTpeHbI yCIIOBHA ...

d) ITpexycMOTpeHBI yCAOBHS

4. The locomotive is being repaired ...

a) peMOHTHUPYIOT D) OTpeMOHTHUpPOBaH

C) pemonTHpOBaIu ) OyayT pEMOHTHPOBATH
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5. The locomotive has been repaired ...

a) oTpeMOHTHpOBaIH D) peMOHTHPOBAIH

C) peMOHTUPYIOT 0) pEMOHTHPOBAJICS

6. The locomotive will have been repaired ...

a) OymyT peMOHTHPOBaTh D) OymeT oTpeMoHTHPOBAH
C) peMOHTUPYIOT ) pEMOHTHUPYETCSI

3ananue 2. Write this sentences “The house is built” using the following time indicators:
now, last month, already, in 2014, by the time we came to this city, not yet, by the end next year.

3aganue 3. Choose the right answer:

1. The car ... made in Germany last year.

a) is b) had been c) was d) were

2. Christmas ... celebrated on the 25th of December by the Orthodox Church.
a) has been b) is c) is being d) was

3. I am sure the new method ... used now.

a) hadn’t been b) will be ¢) will have not d) was not being

4. Everything ... done by 9 a.m. tomorrow.

a) will have been b) will be c¢) is d) has been

5. The letter ... signed yesterday. As far as [ know, it ... signed next week.
a) had not been, will have been b) was not, will have been

¢) was not, will be d) was not being, will be

6. A lot of examples ... given by the professor during that lecture.
a) will be b) has been c) are d) were

7. My paper ... discussed at that time.

a) is not being b) was not ¢) was not being d) had not been

8. The production of electric power ... doubled here next year.

a) will be b) is c) will have been d) was

9. This engine ... already tested.

a) is b) has been c) was d) is being

10. Those machine tools ... designed when I visited the factory.
a) will be b) have been c) were being d) were

3ananue 4. Ask questions indicated in the brackets:

. Such off-road vehicles are sold in special shops. (in what shops?)
. Our tickets should be bought next week. (when?)

. A greater part of London was destroyed by the fire.

. This job may be finished in three days. (in how many days?)

. New houses have been built in our district. (what?)

. Buckwheat is widely grown in Altai Region. (where?)

. An annual report must be signed by the boss. (who?)

. More money will be spent on education. (on what?)

0o ~NO OB WN P

3apanue 5. Change the sentences from active into passive:

1. They offered me a promotion.

2. Mr. Brown will teach this class English.

3. Some people were using the cricket court, so we couldn’t play.

4. They can deliver mail before 8 a.m.

5. The police arrested the villain mainly because they had information



which the witness had passed to them.

6. Have you read the article yet?

7. 1 hope they will have watched the film by tomorrow.

8. No one has solved that problem yet.

9. One can’t learn a foreign language in a few weeks.

10. He is a nasty boy. His parents must teach him good manners.
11. They may raise the price of petrol.

12. Ann is going to buy fancy clothes tomorrow.

13. The customer has to book a table in advance.

14. Our parents promised us support and understanding.
15. The policeman showed us the way to Trafalgar Square.

3aua1mﬂ AJIA KOHTPOJIA MOHUMAHHUA TEKCTA M0 CIENUAJIBHOCTH
Read the text and answer the following questions:
What is academic mobility?
What is an exchange program?
What types of exchange programs can be indicated?
Who is an exchange student?
How are the applicants selected?

ok wbdeE

Tema 2

Ilepeuyensb 3a1aHNH 1J1s1 KOHTPOJBLHOIO ONPOCA
KommiaekT 33)]21H]/Iﬁ H KOHTPOJIBHBIX BOIIPOCOB 110 rPAMMAaTHKE

3anmanue 1. Choose the right answer:

1. Mary warned her parents that she ... home late that night.

a) would come b) had come c) will come d) would have come

2. My English teacher wanted to know ... doing in my spare time.

a) what did I enjoy b) what | enjoyed

¢) what | had enjoyed d) what | will enjoy

3. Jane was mistaken when she said that Maggie ... to her new flat the month before.
a) was moving b) moved c) had moved d) would move

4. In his interview he asked D. Dontsova why she ... another detective story.
a) has been writing b) writes c) was writing d) will be writing

5. The parents hoped that their first baby ... a girl.

a) will be b) would be c) has been d) be

3ananue 2. Use the right form of the verbs in brackets:

1. I knew quite well that his family (;xuBet) in London.

a) had lived b) lived c) live d) has lived

2. The newspaper reported that President Putin (mpu6sun) in India.

a) had arrived b) arrived c) would arrive d) is arriving

3. He said that the students of our group (3anumarorcs) in the library.
a) study b) studied c) were studying d) are studying

4. The students were informed that they (0yzer) industrial training in
the third year of studies.

a) would have b) will have c) are having d) have had

5. He left terribly sorry for the things he (coBeprumn).

a) has done b) done c) was doing d) had done
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3amanwme 3. Translate into English:

. Moii apyr ckasai, 4To OH MHOTO paboTaer.

. OHa xoTena 3HaTh, OEJET JU OH JIETOM B MOCKBY.

. OH cka3ai, 4To 3HaeT JBa sI3bIKa.

. MBI HE TOHMUMAITH, KaK 3TO CEPHE3HO.

. OHM y3HaIH, 9TO OH MOCETIII MHOTO CTpaH.

. OHu 3HaNHK, 4TO MOTroIa OyAeT XOpoIIel 3aBTpa.

. Tom cripocun Camry, riae oH ObLT Buepa.

. Mama cipocwiia, OyIyT i ee BCTpedaTh B adpOIIOPTY.

O 0 3 N Lt A W N~

. Ha ypoke ¢m3uxu yaennkn y3Hamu, 9To Bojaa 3akumaet npu t 100°C.
10. Mama nompocuia Hac caeaTh HOKYIKH B Mara3uHe.

3amanne 4. Choose the correct answer:

1. Wanda complained to me that the children ... very naughty that
evening.

a) were b) was c) had been d) have been

2. The shop assistant showed me a book and said that the book ... the
museums of our town.

a) described b) was describing c) had described d) will describe

3. She asked me about my schedule for the next week and | answered
that I ... it yet.

a) hadn’t known b) didn’t know

¢) won’t know d) wouldn’t know

4. The doctor told me to stay in bed for a few days more otherwise
complications ... .

a) might set in b) had to set in

¢) must set in d) ought to set in

5. Jerry said that by the end of the year he ... in his new house for four years.
a) would have been living b) would live

c) will have been living d) would be living

6. Ann begged me not to tell her father what ... earlier that day.

a) happened b) had happened ¢) would happen d) has happened

7. Kelly told me that while she had been eating her sandwiches at the station bar two strangers ... .

a) had come in b) came in c) would come in d) have come in

8. Sheila answered she ... stories and poems all her life as long as she could remember.

a) was writing b) had been writing c) wrote d) had written

9. Kate confessed that she usually bought her clothes at random, and as a result at the moment she
things to wear.

a) is not having b) wasn’t having c) has no d) doesn’t have

10. Clemency said that she ... the office earlier that day to get to the station in time.

a) had to leave b) must leave

¢) had had to leave d) would have to leave

3agaHusi AJ1s1 KOHTPOJISI MOHMMAHUS TEKCTA MO0 CNeNHATbHOCTH
Answer the following questions:

gk wbdE

plates are connected by a copper wire?

... any decent

Whose discoveries made it possible to create a battery?
What common types of batteries are used nowadays?
How many parts is the voltaic cell composed of?

In what direction does electricity flow when the two
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6. What metals are considered to be perfect conductors?
Why is faulty insulation dangerous?
8. Where can batteries be used?

~

Tema 3

HepequL 3auaHm‘i I KOHTPOJBbHOI'O O1IIpoca
KoMmniekT 3aganuii u KOHTPOJIbBHBIX BOIIPOCOB IO TPAMMAaTHUKE

3anmanue 1. Choose the correct answer:

1. They asked me where I (exy).

a) will be going b) am going c¢) was going d) go

2. The newspapers wrote that he (6511) the best writer the year before.
a) is b) was c) had been d) was being

3. We hoped that our experiment (0yzeT) interesting.

a) will be b) would be c) will have been d) will not

4. Everybody knows that the restoration (3akoHueHa) already.
a) had been finished b) has been finished c) is finished d) finishes
5. She expected that he (sBnsieTcs) an eminent scientist.

a) was b) is c¢) has been d) were

6. We decided that (HeoOxomumo) to give an advertising.

a) it was necessary b) it is necessary c) it has been necessary

7. The assistant told me that the negotiations (ckopo HauHyTCS).
a) will begin soon b) would soon begin c) would begin soon

8. He decided that they (nmpucoenunstcs) our staff in May.

a) will join b) will be joined ¢) would join d) are joining

9. The secretary said that the computer (6511 cmoman).

a) was broken b) had been broken c) has been broken

10. She says that he (BeiOpai) the topic of his graduation paper.
a) has chosen b) choose ¢) had chosen d) would choose

3anmanue 2. Transform direct speech into reported speech making the necessary changes:
1. Jane said: “It was cold and windy yesterday.”

2. The professor said to the students: “We shall discuss this subject
tomorrow.”

. Oleg said to Kostya: “Call me tomorrow.”

. She asked me: “What is the weather like today?”

. Natasha said: “I read “Gone with the wind” last year.”

. “You have done your job pretty well”, said the chief to him.

. “When will you complete your assignment?” Brian asked me.

. The teacher asked: “Who can speak French fluently?”

. She said to me: “Don’t behave this way.”
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10. “I shall not buy anything new until I have repaid the current credit,” said the customer to a shop assistant.
11. Mother asked Jerry: “What progress did you make at school?”

12. “Don’t cross the street under the red light,” said the policeman to Mrs. Careless.

13. “Did you see your brother yesterday, Mary?” asked Mr. Green.

14. He said: “Where is he going?”

15. “Will you be busy tomorrow?”” Glen asked George.



3amanwme 3. Choose the right answer:

1. Mario told the family that he ... a date ... .

a) had, tomorrow b) will have, the next day

c) was having, tomorrow d) was having, the next day

2. Miss Duffer told us that watching TV news ... her nervous.
a) is making b) made c) will make d) make

3. Bob answered that he ... the next mouth.

a) is married b) was married

¢) was marrying d) is marrying

4. The doctor said that the patient ... a few days ago.

a) was operated on b) has been operated on

¢) had been operated on d) would be operated on

5. “How are you parents doing?” she asked. I answered that they ...very well.
a) were doing b) are doing

¢) have bee doing d) had been doing

6. We told everyone that we ... to the meeting in time, but ... at earliest possible.
a) couldn’t come, would arrive b) can’t come, would arrive

¢) couldn’t come, arrive d) can’t come, will arrive

7. Oleg told me that he ... Ann in the street and that she ... fine.
a) met, had seemed b) had met, had seemed

¢) had met, seemed d) has met, was seeming

8. He said that he ... in Canada for ten years.

a) lived b) had lived c¢) had been living d) lives

9. John said that she ... to school ... .

a) had gone, the day before b) went, yesterday

¢) had went, the day before d) had gone, yesterday

10. Jane told us that Jim ... than Bill.

a) was nicer b) has been nicer c) is being nicer d) is nicer

33}13HI/IH AJIA KOHTPOJIA MOHUMAHHUA TEKCTA IO CIICHUAJTBHOCTH

Answer the following question:

1. What is a conductor?

2 What are the most common conductors in electrical engineering?
3. What is the most common function of wire conductors?

4 What is a relationship of resistance to a temperature rise?

Tema 4

IlepeuyeHsb 3a1aHNH V151 KOHTPOJBHOI'O ONPOCA
KoMmuiekT 3ajaHiii 1 KOHTPOJILHBIX BOIIPOCOB 110 TPAaMMAaTHKe

3amanue 1. Use the right form of the verbs in brackets:
1. If I see him, I (tell) him the news.

2. The table will break if you (stand) on it.

3. If he (eat) all the cakes, he will be ill.

4. If I find your book, I (let) you know.

5. The police (arrest) him if they catch him.

6. If he (read) late at night, he is sleepy in the morning.
7. If he (need) a pen, he can borrow mine.
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8. Your car (be stolen) if you left it unlocked.

9. The teacher will get angry if you (make) many mistakes.
10. She will be furious if she (hear) this.

11. If you boil some water, | (make) tea.

12. If you leave your bag here, it (be lost).

13. You’ll miss the bus if you (not/leave) at once.

14. If you come late, they (not/let) you in.

3amarme 2. Open the brackets so that the sentences express: a) a real condition; b) an unreal condition.

. If 1 (know), 1 (tell) you.

. If she (want) to talk, she (ring up).

. If he (have) enough money, he (buy) a large house.
. She (feel) lonely if Peter (go) away.

. We (be) pleased to see you if you (arrive).

. If we (can) come on Sunday, we (come).

. | (understand) Mr Smith if he (speak) slowly.

. We (not/go) by ship unless there (be) no other way.

0O N OB WN PP

3anmanue 3. Complete the sentences:
If I had enough money ....

If it doesn’t rain soon ... .

I’ll stay at home if ... .

I wouldn’t have come to the theatre on time if ...
If I left home for work earlier ....

If I won a prize ... .

If I were a king ... .

If I told my parents the truth ....

If I were you ....

If I were rich ....

3ananus AJ151 KOHTPOJIS MOHMMAHUS TEKCTA M0 CHEeNMATbHOCTH
Answer the following questions:

What is a transformer used for?

What does a transformer consist of?

What two types of transformers do you know?

What type of a transformer is used for high frequency currents?
What type of a transformer is used for low frequency currents?
What are common troubles in a transformer?

What should be done in case a transformer has a trouble?

No gkrwbdE

IV CEMECTP

Tema 1

Ilepevyensb 3a1aHUM J1JIs1 KOHTPOJIBLHOIO OIIPOCa
KommnuiekT 3a1aHuii 1 KOHTPOJIBLHBIX BOIIPOCOB 10 TPAMMaTHKe
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3amaname 1. Choose the right answer:

1. I want them (to arrange/arrange) training for our operators.

2. You’d better (to discuss/discuss) it with our Consultant.

3. We need (to decide/decide) what equipment to buy.

4. Your company is known (to be/be) a second-tier player.

5. Please let me (to think/think) it over.

6. Would you rather (to go/go) home or stay here?

7. Why not (to organize/organize) an international exhibition next year?
8. Can | (to help/help) you?

9. Our Marketing Director made us (to visit/visit) this specialized
exhibition.

10. Let us (to go/go) to the commercial centre.

33}13HI/IH AJIA KOHTPOJIA MOHUMAHHUA TEKCTA IO CIICHMAJTBHOCTH

3ananue 1. Collect the sources of information you will use for your research and arrange them in the
appropriate order due to the existing standards. Make a list of sources due to the example given in the
textbook.

Tema 2

Ilepeuyensb 3a1aHNi 1J151 KOHTPOJIBLHOIO ONPOCA
KommnuiekT 3a1anuii 1 KOHTPOJBLHBIX BOIIPOCOB M0 TPAMMAaTHKeE

3amanwue 1. Define the form of the Infinitive and translate the sentences into Russian:
1. I am glad to have been working with you all these years.
2. I want to learn French.

3. l'am sorry to have troubled you.

4. He does not like to be asked questions.

5. We are glad to have been invited to the fair.

6. He seems to be reading a report.

7. It is impossible to put the equipment into operation now.
8. When to leave will be announced later.

9. The letters to be posted are on the table.

10. They are declared to have signed a very big contract.

3amanue 2. Define the function of the Infinitive and translate the sentences into Russian:
1. What to answer them must be thought over.

2. Tell me how to do it.

3. I’ve got a call to make.

4. When to begin will be announced.

5. I don’t know whether to put this equipment into operation or to wait
for their specialists.

6. The first thing to do is to promote our goods to new markets.

7. He is hard to deal with.

8. They are certain to exhibit their products at our annual exhibition.

9. He was the first to come.
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3agaHusi AJ1s1 KOHTPOJISI MOHMMAHUS TEKCTA MO0 CNeNHaTbHOCTH
Answer the following questions:

What is the most popular source of energy nowadays?

How did the electric motor change the 19-th century workshop?

What invention caused the appearance of electric lighting?

What makes us state that a country is well-developed and industrialized?
What is the major advantage of electricity?

o s wDh e

Tema 3

Ilepeuyenb 3a1aHNH 1J1s1 KOHTPOJBHOIO ONPOCA
KommnuiekT 3a1anuii 1 KOHTPOJLHBIX BOIIPOCOB 10 TPAMMAaTHKe

3anmanue 1. Form the Participle I from the verb in brackets and translate the word combination into Russian:
1. (grow) interest
2. a (worry) problem
4. a (pass) bus

5. an (excite) story
6. a (fly) fish

7. a (cheer) crowd

8. the (follow) chapter
9. (run) water

3anmanue 2. Form the Participle II from the verb in brackets and translate the word combination into Russian:
. a (well-pay) job

. a (steal) car

. a (freeze) lake

. a (destroy) church

. a (use) bus

. an (excite) child

. @ (complicate) explanation

. a (break) heart

. a (frighten) puppy

© 0O ~NO Ol b WDN P

3amanwme 3. Translate into Russian:

1. We saw the child’s shining eyes.

2. The girl watched the falling snow.

3. We looked at the closed gate in surprise.

4. She found her lost notebook on her father’s bookshelf.

5. The cars filling the street moved very slowly.

6. A fish taken out of water cannot live.

7. The pupils taking part in the competition must be here at 4 o’clock.
8. The language circle organized by our English club meets every Wednesday and Friday.
9. We watched the birds flying in the sky.

10. Suddenly they noticed a cloud of smoke rising into the air.
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3a[laHl/lH AJIA KOHTPOJHA MOHUMAHHUA TEKCTA IO CIICHUAJIBHOCTH

Answer the following questions:

What is electricity?

What are the main resources of power generation?

What renewable sources of electrical energy do exist currently?
What is drawing a great attention of experts in recent times?

In what countries has nuclear power generation to be adopted?

a s wbneE

Tema 4

Ilepevyenb 3a1aHUM 1JIs1 KOHTPOJIBLHOIO OIIPOCa
KommiaekT 33}]311]/117[ H KOHTPOJIbHBIX BOIIPOCOB 110 TPAMMaTHKE

3anmanue 1. Define the function of participles and translate the sentences into Russian:

. People coming to the fair can see modern digital means of communication.

. Besides the above-mentioned goods, our company produces some new models.

. Being impressed by the performance of the equipment they decided to place a trial order.
. After receiving the promised invitation | went to the conference.

. He spent the whole day answering the questions of the visitors.

. They stood talking and we sat reading.

. While planning an advertising campaign he came across many difficulties.

0 ~NO Ol WDN P

3anmanue 2. Translate the words in brackets using participles:

1. The fair (mpoxozsimast) in our city now is very interesting.

2. (PasmecTuB 6oubioi 3aka3) the Buyers got a substantial quantity discount.

3. (Ilpopexnamupora) our goods on TV we decided to use some outdoor means.

4. Each time (paccka3ssiBasi 00 3710it pexkinamuoi kammnanun) she could not help smiling.
5. (Korma ero npurnacunn) he said he wouldn’t come to the party.

6. (IToce Toro kak 3manue orpecraspuposain) it looked beautifully.

7. (Ilonyuus Tekymmii karanor), we decided to place a trial order.

8. Your range of products (pa3mMeriennsiii) on your stand impressed us greatly.

9. The project (KOTOPBIH pean3yIOT ceituac) was proposed by our team.

38[[3Hl/lﬂ AJIA KOHTPOJIA MOHUMAHUA TEKCTA 10 CNIENUAIIBHOCTH

Answer the following questions:

1. When is electrical energy released?

2. What makes electrons move from one atom to another?
3. How is electromotive force developed?

4. What force is called direct?

5. What units are used to measure electrical force?

Tema 5

Ilepevyensb 3a1aHUM J1JIs1 KOHTPOJIBLHOIO OIIPOCa
KommuiekT 3a1aHuii 1 KOHTPOJILHBIX BOIIPOCOB M0 I'PaMMAaTHKe

3amanue 1. Comment on the form of the gerund.

. Having advertised our goods in some specialized magazines we decided to make a TVspot.
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Having chosen, playing, being given, having been done, thinking, being translated, reaching, having left,
being treated, joining, having been asked, inviting, being made, having cooked.

3ananue 2. Give all the possible gerundial forms of the following verbs.
To lie, to skate, to examine, to raise, to feel, to knockto fill, to skip, to eat, to rise, to ski, to fly, to move, to
lay, to ring, to sweep, to choose, to wring, to jump, to cut, to hold.

3anmanue 3. Use the Gerund in the appropriate form instead of the infinitive in brackets.

1 Gemma is used to (to interrupt) a teacher, but she hates (to interrupt) while she is answering the lesson.
2 Mike doesn’t like (to read) books himself but he likes (to read) by his Mum.

3 They look forward to (to meet) at the railway station by their new son-in-law.

4 Thank you for (to answer) the letter so soon.

5 She disliked (to arouse) early.

6 She apologized for (to change) the timetable without (to inform) me about it.

7 They haven’t got a chance of (to have) a word together.

8 Victoria displayed a distinct pleasure at (to allow) to tell her story.

9 I have only just discovered that I cannot bear (to watch) doing anything so badly.

10 William insisted on (to tell) the truth as he himself is used to (to tell) the truth.

3amanue 4. Paraphrase the sentences using the gerund in the function of the subject.

Model: It is harmful to drink alcohol.
Drinking alcohol is harmful.

1 It is dangerous to drive a car in such fog.

2 It is pleasant to walk home after school.

3 It is bad to eat fast-food.

4 1t was lovely to move to the country.

5 It is difficult to learn English grammar.

6 It was a great mistake to stay indoors in such lovely weather.
7 It interests him to collect stamps.

8 It is foolish to lie to him.

9 It is impossible to lengthen this dress.

10 It is no easy matter to treat this disease.

3amanue 5. Complete the following sentences using the gerund in the function of
the subject.

1 ...is pleasant.

2 ...is useful.

3 ...was painful.

4 ...is such fun.

5 ...is a new experience for me.
6 ...is out of question.
7 ...is tedious.

8 ...was his constant passion.
9 ...1s healthy.

10 ...is wise.

3a[laHl/lH AJIA KOHTPOJA MOHUMAHHUA TEKCTA M0 CNIENUAIBHOCTH

Using Ohm’s Law try to find solutions to these problems:
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1. The load in a circuit is 3 ohms, the voltage is following at 12 volts. What will be the current
value?
2. The current in a circuit is equal to 5 amps. How much resistance shall be overcome by 12 volts?

V CEMECTP

Tema 1

Hepequb 3auaHm“4 I KOHTPOJBbHOI'O O1Ipoca
KommnuiekT 3a1aHuii 1 KOHTPOJIBLHBIX BOIIPOCOB 10 TPAMMAaTHKe

3ananue 1. Revise the Participle and test yourself by choosing right answers:

1. Statistics is a science ... with study of numerical facts and data.
a) dealing b) being dealt c¢) having dealt d) having been dealt

2. The telephone ... by A. Bell has changed the world beyond recognition.
a) having been invented  b) being invented
c) invented d) having invented

3. The interview ... by the President was devoted to economic problems.
a) having given  b) being given c) having been given  d) given

4. Jim spends all his time (moceras) to parties.
a) going  b) having been going c) being gone  d) having gone

5. (bpocus) the ball into the water, the boy could not get it back.
a) Throwing b) Being thrown
c) Having been thrown  d) Having thrown

6. (Having been asked) to get the book, he said he would try to.
a) IMonpocusmmii b)) Korxa ero monpocunu ) Iompocus

7. The girl sitting at the window is my sister.
a) JleBymka, cupsmiasl y OKHa, MOSI CecTpa.
b) [leBymka, KOTOpasi CHIUT y OKHA, MOSI CECTpa.
C) Mos cectpa cuzena ¢ JEBYIIKOW y OKHA.

8. He sat in the armchair reading a newspaper.
a) [IpounTaB rasery, oH cell B Kpecio.

b) On cuzen B kpeciie ¥ YMTaAN Ta3eTy.

¢) OH cuzen B Kpecye, UYhTast ra3ery.

3ananue 2. Translate into English using the appropriate form of the Infinitive.

1. S pan, 9To pacckaszan BaMm 3Ty HCTOpHUIO. 2. S pal, 4TO MHE pacckaszaiu 3Ty HcTopuio. 3.  xouy
MO3HAKOMUTB Bac € 3TOM apTUCTKOU. 4. 51 X0uy, 4TOOBI MEHS TTO3HAKOMHIJIHU C 3TOW apTHCTKOM. 5. S pan,
YTO BCTPETUJI €€ Ha cTaHUuU. 6. S paa, 4TO MEHs BCTPETUIIN HA CTAaHIMU. 7. MBI OY4€Hb CHACTIIUBBI, YTO
MPUTJIacHiId ero Ha Bedep. 8. MBI OUeHb CUACTIIMBBI, YTO HAC MpuUriacwid Ha Beuep. 9. OH Oymer
CYACTJIMB MOCETUTh ATY 3HAMEHUTYIO KapTHUHHYIO raynepeto. 10. OH ObUI cYACTIUB, YTO MOCETUI ITY
3HaMEHHUTYIO KapTUHHYIO rainepeto. 11. Jletn mo0AT, Koraa UM paccKas3bIBalOT CKa3ku. 12. MHe oueHb
XKaJb, 9TO s MPOMYCTHI 3Ty Jeknuio. 13. OHa cyactiuBa, 4To OblIa Ha 3TOM KOHIepTe. 14. OHa pana,
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YTO MPHUCYTCTBOBAJIAa Ha JIEKIIUHU. 15. OH OYeHb JOBOJIEH, YTO BBHIUTPaN KyOOoK. 16. OH ObLT CYACTIUB,
910 cHOBa JoMa. 17. OH ObLI cHACTIIHMB, YTO BepHYJCS nomoid. 18. S coxkanero, 4To mpepBai Bac.

33}13]—[1/[5[ AJISI KOHTPOJISI IOHUMAaHUA TEKCTa

3ananue 1. Translate the word combinations from English into Russian:

to attract attention; public office; to depend upon; daily work; to take responsibility for; to accomplish
a purpose; to persuade an audience; to take certain actions; to be given credit for; to argue one’s cases;
to make prudent decisions; to criticize ideas through public speaking; to gain the reputation.

3amanwme 2. Explain or paraphrase the words:
to deliver a report; to address; an audience; schedule; spontaneous.

3anmanue 3. Give the English equivalents for the words:

IPUBJIEKATh BHUMAHHUE; 00pAIaThCs K ayIMTOPUH; IPEPhIBATh; OpaTh OTBETCTBEHHOCTH 32 CBOU
CIIOBA; JOCTHYb IIeIei; oOecreunBaTh HH(POPMAIIUCii; 3apaHee; yOeaUTh MPUHITH HOBYIO TOUKY
3pEeHUS; MIPEANPUHATE OPEICIICHHbBIC ACHCTBHS; CIIOHTAHHAS PEYb; SKCIIPOMT; BKJIAJ; COJCPIKAHHE;
BJIMSITH Ha; POU3HOCHUTH PEYb; 3aBOCBATh PEIYTAIIHNIO; Pa300iayarh; BOOAYIIEBIATh.

Tema 2

Ilepeuyensb 3a1aHNH 1J1s1 KOHTPOJBLHOIO ONPOCA
KommiekT 33}]3111/117[ H KOHTPOJIbHBIX BOIIPOCOB 110 TPAMMaTHKE

3ananue 1. Translate the sentences with the Complex Object construction into Russian.

1. 1 would like her to sing. 2. Did you notice anyone come in? 3. Let me go. 4. They made me believe
that there was no danger. 5.Mother wants me to get good marks at school. 6. Would you like me to help
you with Math? 7. I don’t want you to misunderstand me. 8. The teacher expected the students to hand
in the tests at once. 9. In my childhood my parents made me learn to play the piano.10. We expected the
children to be looked after.

3ananue 2. Make up some sentences:

I heard him speak to the consultant
We saw her take part in the fair
You watch us go to the commercial centre
They made them discuss the issue

let me to organize an exhibition
want you to see new machinery
wish to answer my questions
expect operate the equipment
would like
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3aganue 3. Translate the sentences:

1. 51 caplman, 9To OHU OOCYXKIAIOT MPodIEMYy.

2. OHU XOTHAT, YTOOBI MBI IPUHSUIA Y4aCTHE B BHICTABKE.

3. OHU 0KUAAIOT, YTO MBI OPTaHU3YEM MOJTOTOBKY UX OIEPaTOPOB.

4. OHHU XOTAT, 4TOOBI rapaHTUHHBIN CPOK HALIETO 0OOPYIOBAHMS COCTABIISUT ABA/ALATH YEThIPE MECsIa.
5. 51 Buzel, 94TO OHY MOLLIM B KOMMEPYECKUN LIEHTP.

6. OHU MO3BOJWIIM HAM TIOCMOTPETh UX HOBOE 000pyAOBaHUE.

3auanml AJIA KOHTPOJIA MOHUMAHHUA TEKCTA M0 CNIENUAIBHOCTH

Answer the following questions:

By what means is current transmitted to distant places?

What metal are usually the wires made of?

What maximum pressure may be found in aluminum cables?
What pressure is used in households?

What would happen if we touched one of the aluminum cables?

agrwdE

Tema 3

Ilepeuyensb 3a1aHNi 1J1s1 KOHTPOJBLHOIO ONPOCA
KommnuiekT 3aiaHuii 1 KOHTPOJBHBIX BOIIPOCOB 110 TPAMMATHKE

3amanune 1. Translate the sentences:

1. A magnet is known to attract only things containing iron.

2. The current is said to heat the body through which it is flowing.

3. The direction of force is seen to be dependent upon the direction in which the field is cut.

4. The common dry cell is found to develop 1.5 volts of electrical force regardless of the size of
the cell.

5. The volt is known to be the unit of measure for electrical force.

6. One ohm is known to be the resistance of a conductor through which the current is 1 ampere

when the potential difference across the ends of the conductor is 1 volt.

3ananue 2. Paraphrase the following sentences using the Complex Subject construction.

Model: People consider the climate there to be very healthy. = The climate there is considered to be
very healthy (complex subject).

1. It was announced that the Chinese dancers were arriving next week. 2. It is expected that the
performance will be a success. 3. It is said that the book is popular with both old and young. 4. It is
supposed that the playwright is working on a new comedy. 5. It is reported that the flood has caused
much damage to the crops. 6. It has been found that this mineral water is very good for the liver.

3amanue 3. Translate into English using the Complex Subject construction.

1. l'oBopsT, yTO 3TO 3AaHME OBLIO MOCTpOeHO B 15 Beke. 2. [IpennonaratoT, 4To coOpaHre 3aKOHYUTCS
B 10 gacos. 3. I3BecTHO, YTO pUMIIIHE IOCTPOUIIN Ha BpUTaHCKUX OCTpOBaxX XOpPOIINE JOPOTH.

5. Iomarator, yto mosma «beoBynb(d» Obima Hamucana B 15 Beke. 6. Bamprep CKOTT cumTaercs
co3JlaTesieM HCTOPHYECKOro poMaHa. 7. ['oBOpsT, 4TO OH paboTaeT HaJl CBOUM H300pETEHHEM YKe
HECKOJbKO JeT. 8. Coo0LIaroT, 4To SKCIEANLIUS TOCTUTIIA MECTa HA3HAYECHUS.

3a[laHl/lH AJIA KOHTPOJIA MOHUMAHHUA TEKCTA M0 CNIENUAIBHOCTH

Answer the following questions:
1. Does there exist a wide variety of electric motors?
2. What principal kinds are direct-current motors divided into?
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What is a field winding and how is it made?
What is a series motor?

What is a shunt motor?

What is the design of a compound motor?

I

VI CEMECTP

Tema 1

Ilepevyenb 3a1aHUM )11 KOHTPOJIBLHOIO OIIPOCa
KoMnuaekt 3ana}mﬁ H KOHTPOJIbHBIX BOIIPOCOB 110 TPAaMMaTHKE
3aganue 1. Translate the sentences into Russian:
| saw him running.
They watched him slowly approaching the house.
| saw them walking along the street.
The manager watched the furniture being discharged.
He watched her reading the letter.
They noticed me leaving the house.
We felt the wind blowing.
| heard him coming up the stairs.
We listened to him singing the song.
10.  They heard the child laughing.
11.  We watched him coming to the gate.
12.  She has had a new dress made.
13. | have had my hair cut.

©COoNOA~WNE

14, How often do you have your carpets cleaned?
15. We have just had our house decorated.
16. I must have my hair washed.

3aganue 2. Change the following sentences by using the pattern with ‘have smth done’ instead of the
pattern with the Passive Voice:

0 My radio set was repaired. — I had my radio set repaired.

o Mr West’s clothes must be cleaned. — Mr. West must have his clothes cleaned.
o Where can my umbrella be mended? — Where can I have my umbrella
mended?

. My suit was cleaned last month.

. Nora’s carpets were beaten before the birthday party.

. Mr. West’s article was translated into French.

. Mr. Brown’s advertisement was printed in the newspaper.

. Their luggage was brought to their room.

. Peter’s hair must be cut.

. Roger’s bicycle must be repaired.

. His bad tooth must be pulled out.

. Mr. Green’s house must be painted.

10. Where can my suit be cleaned?

11. Where can my car be repaired?

12. Where can my shoes be polished?

(BN
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3amanwme 3. Translate the sentences into English using the Complex Object construction with
Participle I or Participle 11:

1. Owna BuJIeN1a, KaK s OTKPbLT OKHO.
2. S cnpiman, Kak OHU TOBOPUIIH 00 3TOM.
3. Ona 3aMeTHIIa, KaK OH BBIXOJIMJ U3 KOMHATHI.
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OHH MOYYBCTBOBAJIM, KaK MallliHA OCTAaHOBUJIACH.

Yuurens HAOMIOAT, KaK YUCHUKH JIEJIaTl YIPaKHEHUE.

S Mory npoIuTh BU3y?

I'e s mory 3ammomMOupoBats 3y0?

51 TONBKO YTO OTPEMOHTHUPOBAJ MAIIUHY (paboTanu MacTepa).
Omna cuimia HoBo€ TUIaThe (B MacTEPCKOi).

©xoNo A

33}13]—[1/[5[ AJISI KOHTPOJISI IOHUMAaHUA TEKCTa

Answer the following questions:

Is an essay a common way of assignment at university?

How long is a usual essay?

What steps do essays involve?

How does an essay differ from a report?

What abilities do essays assess?

What do essays bring together in order to address a specific problem or a question?
What is the main purpose of a narrative essay?

What is a descriptive essay aimed at?

What is the main goal of a persuasive essay?

©oo N~ WDRE

Tema 2

IlepeuyeHsb 3a1aHNH 1151 KOHTPOJBHOIO ONPOCA
KommiaekT 33)]21H]/Iﬁ H KOHTPOJIBHBIX BOIIPOCOB 110 rPAMMAaTHKE

3ananue 1. I. Translate the following sentences with the Absolute Participle Construction into Russian:
1. An electric conductor being moved in a magnetic field, an electric current is generated.

2. The engine running at low revolutions, the temperature of oil remained constant.

3. Some new devices having been obtained, the researchers could make more complex experiments.

4. The students wrote their English test-paper, each doing his variant.

5. Part of the energy being changed into heat, not all the chemical energy of the battery is transformed
into electric energy.

6. There being a lot of things to discuss, the conference lasted for a long time.

7. England being a constitutional monarchy, the king is only a formal ruler.

8. The weather being fine, they went for a walk.

9. The components of the velocity of a body moving in the air being known, the resultant velocity may
be found.

10. The heat being proportional to the square of the current, the rise in temperature in a hot wire
instrument is also proportional to the square of current.

11. The pressure being known at some point in the flow of air, the pressure at another point on the
same streamline may be calculated by Bernoulli's law.

12. The experiment having been made, scientists were interested in the results.

13. Weather permitting, the ship will leave the harbor.

14. The equipment being broken, the investigators couldn’t carry out the experiment.

3amanue 2. Transform the sentences according to the model:
The ice being very thin, the children could not cross the river:
The ice was very thin and the children could not cross the river.

1. Weather permitting, the planes will fly.
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2. The work having been done, the workers went away.

3auanml AJIA KOHTPOJIA MOHUMAHHUA TEKCTA M0 CNIENUAIBHOCTH

Answer the questions:

What is expected of wind power in Europe?

What is the most important fact in developing wind power?
Where and by whom was the first wind turbine developed?
What is the average size of the wind turbine?

What are the features of the biggest wind turbine?

Does a wind turbine have an impact on the environment?

oakrwdpE
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®OHJI OIIEHOYHBIX MATEPHUAJIOB JIJISI TIPOMEKXYTOUYHON
ATTECTAIIUHU B ®OPME 3AYETA

ITpomexyTouHas aTTeCTallisd BO BTOPOM ceMecTpe (3a4eT) IPOBOAUTCS Ha OCHOBE BBIIIOJHEHHUS
IIMCbMEHHOW KOHTPOJIbHOM paboThl, OEce/bl CO CTYAEHTOM 10 TEMaM YCTHOM pedH.
Kontposupyemsbie komnerenuuu: OK 01, OK 02, OK 04, OK 06, OK 10

Kpurepum ouenku:
3a4TCHO — BBIITIOJIHCHA KOHTPOJIbHAA pa60Ta N YCTHBIC 3aJaHUA
HE 3a4YTE€HO — HE BBINOJIHEHA KOHTPOJIbHAsA paboTa U YCTHBIE 3a/1aHUS

TECT
NMPOMEKYTOUHON aTTecTamuu no gucuuiuinae OI'CJ.03 Unocrpannblii A3bIK B
npogeccuoHaIbLHOI eI TeJIbHOCTH

1) BeiGepuTe ciioBo, rie OKOHYaHHE YATACTCS Kak [Z]:
a) belts b) bees c) roofs d) tests

2) BeibepuTe coBo, T/Ie TIPOU3HOIICHNE YIAPHOTO TJIACHOTO COOTBETCTBYET 3BYKY [€]:
a) meet b) key C) mean d) desk

3) 3amomHHUTE POIMYCKH OJHUM U3 IaHHBIX CJIOB!
| am going to work in the ... of atomic energy.

a) shop b) counter c) field d) place

4) BBI6epI/ITC COOTBCTCTBUSA MCIKIAY AHTJIMUCKUMHU CJIOBaMH U UX PYCCKHMHU 5KBUBAJICHTAMMU:

1. composer a) KOMITO3UTOP
2. symphony b) cumdponus
3. violinist C) ckpuIay

4. clavier d) xmaBecuH

5) BeibepuTe «iniIHee» ciaoBo:

a) body b) figure c) form d) building

6) Brioepute anToHuM K cioBy difficult:
a) hard b) demanding c) similar d) easy

7) Ynorpebute Hy)KHYIO0 (pOopMy NMOAYEPKHYTOTO UMEHH CYILECTBUTEIBHOTO one tooth — two ... :
a) toothes b) teeth c) tooths  d) teethes

8) Ynorpebure Hy)KHYIO (GOPMY UMEHH TPHUIIATaTeIIbHOTO: That bike is ... than that car.
a) cheapest b) cheap ¢) the cheaper d) cheaper

9) YnorpeOute Hy’)KHOE€ MECTOMMEHHUE: He’s got a calculator. It’s ... calculator.
a) him b) his c) her d) he

10) Ynorpebute Hy)HYIO (hOpMYy TIIarosa: Paula Fairfax ... in America.
a) lives b) live c) are living d) is living

11) BriGepute npaBuiabHBIN BapuaHT oTBeTa: What time ... yesterday?
a) did you got up b) did you get up c) you got up d) do you got up
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12) Ynorpebure Hy)KHYIO (OopMy TJIaroja:
Bob ... a computer when the electricity went off.
a) is using b) was using C) were using d) will be using

13) Ynotpebure HyXHBII apTUKIIb, /1€ 3TO BO3MOXKHO: He eat ... meat every day.
a) an b) - c) the d)a

14) Ynorpebute HYXHBIH TPEIIOT: I like getting up late ... the weekend.
a)on b) at c)in d) by

15) BeiOepuTe npaBUIIbHBIN BapuaHT niepeBoja: | hey have come.
a) Ouu uayt. b) Onu npunui. ¢) OHu umeroT Hamepenue npuidtu.  d) OHU He NPHILLIH.

16) HpquTaﬁTe TCKCT U OIIPCACIIUTC, KaKo# U3 3arojJ0BKOB COOTBCTCTBYCT TCKCTY:

International trade is when companies from one country sell their products or services in other
countries. For example, the UK produces cars, machinery, oil and chemicals, which it exports to
overseas markets. Other British exports include services like banking and travel. These earn foreign
currency for the UK. Imports to the UK include cars, food, and electrical goods.

a) International Trade b) Foreign Currency  c) Import to the UK d) British Exports
17) TlpounTaiiTe TEKCT U 3aMOJHUTE MPOMYCKH MOIXOASIIMMH IO CMBICITY CIIOBAMH:

Importers and (1) do not use the same currency. When they buy and sell (2) they change
money from one currency to another. There are two ways of doing this. First, the importer can pay in
his own (3) and exporter changes on the international currency market. Secondly, the importer
(4) his own currency and purchases the exporter’s. Then the importer pays. Usually the banks
buy and sell currency for their clients.

a) exporters b) currency c) sells d) goods
18) IlpounTaiite TEKCT:

Veronique Feldmann:

“I work in the Supplements Department. I’'m the Advertising Coordinator, and my work to produce the
advertising supplements. A supplement is like a newspaper inside a main newspaper and we call it a
“sponsored section” because it is financed by the advertisers. We only have these supplements if we
can sell enough advertising. For a sponsored section we think of an idea, then we sell the advertising
space and get articles, photographs, illustrations. Then we do the layout. We put the whole supplement
together in this department. The supplements don’t appear every day — we usually do about 2000
year.”

Otetbre Ha Bompoc: What is a supplement?

a) A supplement is an article in the newspaper.

b) A supplement is photographs and illustrations in the newspaper.
c) A supplement is like a newspaper inside a main newspaper.

d) A supplement is an advertisement.

19) IlpounTaiiTe TEKCT U HAUAUTE COOTBETCTBYIOIINN MTEPEBOJ] TIOTYEPKHYTOTO CIIOBA!
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Choosing an occupation takes time, and there are a lot of things you have to think about you try to
decide what you would like to do. You may find that you will have to take special courses to qualify
for a particular kind of work, or may find out that you will need to get some actual work experience to
gain enough knowledge to qualify for a particular job.

a) KJIaccupuIUpOBaTh b) o6nanare kBamupuKanyen
C) KBaTHpUKAIUS d) knaccudukanus

20) IIpouuTaiiTe TEKCT U BHIOEPUTE YTBEPKACHHUE, COOTBETCTBYIOIIEE COJACPKAHUIO TEKCTA!

Information technology (IT) is an important part of the travel business. Almost all suppliers, such as
tour operators, airlines, and hotels, have their own website. Customer can find information and make
online booking. There are also many “one-stop” websites like traveleasy.com. These allow people to
find all the information they need on one website — for example, the cheapest deals on flights, or hotel
accommodation.

a) A “one-stop” website is not useful if you want information about many different things.
b) Most suppliers have their own website.

c) Suppliers can find information and make online booking.

d) You can’t find all the information you need on one website.
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[TpoMexyToUHas aTTeCTallisd B 4YeTBEPTOM ceMecTpe (3a4eT) IIPOBOJUTCS HAa OCHOBE BBIIIOJIHEHUS
IIMCbMEHHOW KOHTPOJIbHOM paboThl, OECe/bl CO CTYAEHTOM 10 TEMaM YCTHOM pedH.
Kontposupyemsbie komnerenuuu: OK 01, OK 02, OK 04, OK 06, OK 10

Kpurepum ouenku:
3a4YTCHO — BBIITOJIHCHA KOHTPOJIbHAA pa60Ta N YCTHBLIC 3alaHUA
HE 3a4YTE€HO — HE BBINOJIHEHA KOHTPOJIbHAsA paboTa U YCTHBIE 3a/1aHUS

TECT
NPOMEeKYTOUHON aTrTtecTanuu no gucuumimae OI'CJ3.03 UnocrpanHblii A3bIK B
npodeccHoHAJbLHOM 1eATeTbHOCTH

Ykaxkute QyHKINIO HHPUHUTHBA:

1) To operate this computer is easy.
a) ompenienienne  b) obcTositenbetBO  C) nomosHenue ) mozsekariee

VYKaXuTe NpaBWIbHBIA BApUAHT IIEPEBOJA:

2) He is said to have established another record.

a) OH ckazall, YTO OH YCTaHOBHUJI €III€ OJUH PEKOP/I. b) I'oBOpST, YTO OH YCTAHOBMII €IIIEC OJIUH
PEKOp/I.

¢) ['oBOpAT, 4TO OH YCTAHOBHUT €III€ OJUH PEKOP/I. d) OH cka3aj, 4To yCTAaHOBHT €IIE OJUH
peKopI.

Buvibepume npasunvhwiii 6apuanm omeema:
3) This is the book ......... during the summer holidays.

a) to be reading b) to have been reading c) to read d) to be read
4y.......... was his greatest pleasure.
a) to have played chess b) to play chess c) to be playing chess d) to have been playing

5) Vkaxure neppexkTHoe MpUYacThe B IEHCTBUTEIBHOM 3aJ0re:

a) being made b) having made ) making d) having been made

6) Onpenenute PyHKIUIO MPUYACTHS B TIPEIIIOKCHHUH:

Having lost the book, the student couldn’t remember the topic.

a) orpesiesieHne b) MeHHast yacTh CKa3yeMoro C) mojIexaniee d) ob6cTosTENTHCTBO
Bri6epute npaBunbHy0 GopMy MpHUUACTHS:

7) Football ... by the British is very popular in many countries.

a) invented b) being invented ¢) inventing d) having invented

VYKaXuTe MpaBWIbHBIA BapUAHT NIEPEBO/IA BRIPAXKCHUH B CKOOKAX:
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8) (Korma ero nmpurnacwim), he said he wouldn’t come to the conference.

a) having been invited b) inviting ¢) having invited d) invited
Bri6epute npaBuiibHYI0 GOpMy repyHIus:

9) I am pleased at your ... my friend in mathematics yesterday.

a) having helped b) helping c) being helped d) having been helped
VKakuTe MpaBUIbHBIA BApUAHT MIEPEBOIA IPEIIOKEHHUS:

10) He doesn’t like being asked questions.

a) OH He 100UT 33a7aBaTh BOMPOCHI. b) OH He MOOUT, KOTJa €My 3a1al0T BOTIPOCHI.
¢) EMy HpaBuTCs 3a7aBaTh BOIPOCHI. d) Emy HpaBuTCs OTBEYaTh Ha BOIIPOCHI.

Hpoqmume cmamovio.

HIRE-PURCHASE

This system of buying goods became very common during the first half of the twentieth century.
Today a large proportion of all the families in Great Britain buy furniture, household goods and cars by
hire-purchase (moxymnka/mpoaaxa B paccpouky). In the USA, the proportion is much higher than in
Great Britain, and people there spend over 10 per cent of their income on hire purchase installments.
The goods bought by hire-purchase are, in almost every case, goods that will last - radio and television
sets, washing-machines, refrigerators, motor-cars and motor-cycles, and articles of furniture.

The price of an article bought in this way is always higher than the price that would be paid for cash.
There is a charge for interest. The buyer pays a proportion of the price when the goods are delivered to
him. He then makes regular payments until the full price has been paid. The legal ownership of the
goods remains with the seller until the final payment has been made.

Hire-purchase has advantages and disadvantages. It increases the demand for goods, and in this way
helps trade and employment. If families are paying each month installments on such household goods
as a washing-machine and a car, they can spend less money in useless or perhaps harmful ways, for
example, on too much alcoholic drink. There is, however, the danger that when trade is bad, hire-
purchase buying may end suddenly and make trade much worse, with, as a result, a great increase in
unemployment.

Buvibepume npasunvhwlii 6apuanm omeema.
11) The article is about ... .

a) the advantages of the hire-purchase system b) the disadvantages of the hire-purchase system
c) the peculiarities of the hire-purchase system d) the hire purchase system in Great Britain

12) ... the hire-purchase system became very popular in the twentieth century.

a) The article is devoted to b) The author starts by telling the reader that
c) The article is headlined d) The article goes on to say that

13) According to the text ... .

39



a) the amount of goods bought by hire-purchase is more in the USA than in Great Britain
b) the amount of goods bought by hire-purchase is more in Great Britain than in the USA
¢) the amount of goods bought by higher-purchase is equal in the USA and in Great Britain
d) people in Great Britain don’t like to buy goods by hire-purchase

14) The author writes that the commaodities usually bought by hire-purchase are ... .
a) durable goods b) undurable goods C) export goods d) inferior goods
15) The price of an article bought by hire-purchase is higher because ... .

a) its quality is usually higher b) higher purchase has advantages and disadvantages
¢) the Government controls hire-purchase d) there is a charge for interest

[IpoutnTe TEKCT:
WHAT IS VOIP?

1) Voice Over Internet Protocol (VolIP) is a new technology that uses broadband Internet and
network lines to transmit real-time voice information. This technology has the potential for completely
changing the way phone calls are made and making phone companies a thing of the past.

2) To make a phone call on the Internet, several things must happen. On the sending side, analog
voice signals are digitized, compressed, divided into packets and transmitted over network lines. On
the receiving end, the signals are recombined, uncompressed and converted back into audio. Because
the voice signals are digital, they can be transmitted just like any other data packets on a network.
VolIP can be relatively inexpensive to implement, although costs rise as the complexity of the system
increases.

3) There are currently several problems with this technology. If the computer or network lines
fail, then telephone service is interrupted. Though the stability of computer hardware, operating
systems and network infrastructure has improved significantly in the last decade, crashes still occur.
The "up" time of these systems is still significantly less than with traditional phone systems - which
often continue to function even during power outages. Another issue is that tracking the origin of a call
is difficult because the signals are transmitted over the Internet. This is especially important to
emergency responders to 911 calls. Caller ID service may not function either.

4) Additionally, devices that make calls using phone lines, such as fax machines, cable TV boxes,
etc. may not function properly. Law enforcement officials may have difficulty wiretapping phone lines
that use VolP technology. Finally, the quality of VVolP service is lower than that of a traditional phone
system. Since the information is transmitted over network lines, VolP phone calls may break up,
hesitate, or cause words to be dropped. All of these issues are being addressed and their significance
should be eliminated over time.

Onpenenure, BISETCS JIN YTBEPKICHUE:

16) With VolP technology it is easier to track the origin of a call.
a) UCTUHHBIM b) noxHBIM C) B TeKCTe HET MHPOpMAIIH
17) VolIP technology is a possible threat for telephone companies.
a) ICTHHHBIM b) moxHBIM C) B TEKCTE HET nHpOpMaIuu

18) VoIP is not a very expensive technology to implement.
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a) UCTUHHBIM b) noxubIM C) B TEKCTE HET HH(pOpMaINU

VYkaxwure, kakoil yactu Tekcra (1, 2, 3, 4) cOOTBETCTBYET clenyromas HHPOpMaLus:
19) The stability of a VVolP call is one of the problems this technology faces.

a)l b) 2 c)3 d)4

20) Onpenenure OCHOBHYIO UICIO TEKCTA:

a) VoIP is not a very effective technology.

b) VolP is a new and promising technology.

c) VolP is rather inexpensive to implement.
d) Phone companies will soon disappear.
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[TpomexxyTouHas aTTecTalysl B IIeCTOM ceMecTpe (3a4eT) MPOBOJIUTCS HA OCHOBE BBIIIOJHEHUS TECTA
B ITUCBMEHHOM (hopme, Oecebl CO CTYACHTOM 10 TeMaM YCTHOW peyw.
Kontposupyemsbie komnerenuuu: OK 01, OK 02, OK 04, OK 06, OK 10

Kpurepum ouenku:

Kpurepuii Ouenka mo Onenka no
100- TPaTUIHOHHO
0a/1JILHOM i mKaJie
KaJjie
CryneHT nposiBUII 3HaHUE TPOrPaMMHOTO MaTepuania, 25-100 3aumeno

JTEMOHCTpHUpPYET chopMUpPOBaHHBIE (MHOTIa HE MIOJTHOCTHIO)
YMEHUS U HAaBBIKH, YKa3aHHBIE B IPOrpaMMe KOMIIETEHIINH,
yMmeeT (B OCHOBHOM) CUCTEMAaTH3UPOBATh MaTepual U JesaTh
BBIBO/IBI

CryzaeHT He yCBOMJI OCHOBHOE COZEpKaHNE MaTepuaia, He 0-24 He 3aumeno
YMEET CUCTEMATU3UPOBATh HH(OPMALINIO, AEIaTh BBIBOBI,
YETKO U TPaMOTHO OTBEYaTh Ha 3a/IaHHbIE BOIIPOCHI,
JEMOHCTPUPYET HU3KUHM YPOBEHb OBJIAJIEHUS HEOOXOUMBIMU
KOMIIETCHLUSIMU

Buier Ne 1
.Tect Ne 1 (Bec Bompoca - 0,04).

Bri6epuTe npaBUIbHBIN BapHaHT OTBETA:

1) My cousin ... to school every day.

a) goes b) go c) went is going

2) Yesterday I ... a nice dress at the shop.

a) buy b) buys c) bought d) am buying

3) They ... never ... to Washington.

a) has ... been b) have ... been c¢) have not ... been d) has not ... been
4) Hockey ... in winter.

a) plays b) is played c) is playing d) play

5) Where ... your daughter study?

a) has b) is c) does d) do

6) We shall be writing a test ... .

a) tomorrow b) at 2 p.m. tomorrow c) by 2 p.m. tomorrow d) yesterday

7) The place is worth ... .
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a) visit b) to visit C) visiting d) visited

8) We have much time at our disposal, we ... hurry.

a) needn’t b) cannot ¢) must d) should

9) London is ... than New York.

a) more old b) older c) the oldest d) the most old
10) Beibepute npaBUiIbHBIN BapHaHT OTBETA!

a) | usually go to the Institute on foot.
b) 1 go to the Institute on foot usually.
c) I go to the Institute usually on foot.
d) To the Institute usually on foot I go.

Ilpoumume cmamoro. CoenacHo nonyyeHHOU uH@opmayuu, evibepume NOOXOOAWUL BAPUAHM
sbipadicerusi O peghepuposanus.

BOOK YOUR PLACE IN NEW LITERARY CIRCLE

The newly organized book club is slowly gaining recognition (mpu3Hanue) and establishing its members
among the city's readers. “The club is really multinational — we’ve got people from UK, Malaysia,
Bolivia, Bulgaria, France, USA, Australia, Italy and Russia. Mostly our readers are representatives of
foreign countries but Russian people are also very active participants. All the participants have totally
different backgrounds (nmpoucxoxnenue), which makes club meetings even more interesting. It doesn’t
matter if you are a city council member or a financial controller or a medical student or a teacher or an
artist. They all come together to exchange books, to talk about them and life in Moscow,” said the
chairman Leila Korkelia.

The idea is globally popular — book swaps (06mMeH) exist online, and in the real world such events are
organized by universities and publishing houses. There’s no money involved — the club is sharing (to
share — nenuthes) good books, not making money. Anyone who has a book can add it to the selection,
pick out interesting titles from other guests and arrange a deal (coBepmuts caenky). Even if you have
no books at all, some members are happy to give books without wanting anything in return.

As Korkelia added: “For those who just recently arrived to live in Moscow, book club is a nice place to
socialize. For Russians it’s a good opportunity to practice the English language.”

Meetings are held once or twice a month, usually in a café somewhere in the city centre.

11) ... anewly organized book club in Moscow.

a) The author starts by telling the reader that

b) The article is about

c) In conclusion the author writes

12) ... the club is becoming popular among the city's readers.
a) The author starts by telling the reader that

b) The article is about

c) Further the author says that

13) ... among the participants there are people of different nationalities and professions.
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a) The author comes to the conclusion that
b) The article goes on to say that
¢) The headline of the article | have read is

14) ... book swaps exist online and anyone can get a book free of charge.

a) According to the text
b) The article is devoted to
¢) The author starts by telling the reader that

15) ... meetings are held in a cafe once or twice a month.

a) The main idea of the article is that
b) The author starts by telling the reader that
c) In conclusion the author says that

Hpoqmume mekcm.

SCIENCE AND INTERNATIONAL COOPERATION
One of the most striking features (oTnnuntensHas yepta) of modern science is the increasing tendency
towards closer cooperation between scientists and scientific organizations all over the world.
The exploration of space, world finance, global environment protection problems, the development of
new sources of power, such as atomic energy, are the examples of scientific research (uccnenoBanue),
which are costly (moporoii) and complicated (cioxwnsiit). That is why it is difficult for a single country
to solve these tasks in a short period of time. Space exploration (ocBoenue) programmes are conducted
between Russia, Austria, India, France, Sweden and other countries. Everyone is interested in the
possibility (Bo3moxHocTh) of Russia-US cooperation in space exploration. Joint scientific ventures
(mporpammsl) for benefit (Beirona, mons3a, 6maro) of all mankind are a sign of mutual trust in human
cooperation that can only strengthen peace.
If we began to establish a cooperative relation in space today, this dream could be a reality. There is no
doubt (comnenue) that improved (ymydmennsie) relations between countries and cooperation in the
latest technology is the benefit of all mankind.

Buvibepume npasunvhwiii 6apuanm omeema:

16) The striking feature of modern science is ... .

a) increasing differences in scientific organizations

b) setting up scientific institutions all over the world

c) close cooperation of scientists

17) The development of new sources of atomic energy is ... .

a) not very expensive and this task may be solved in a short period of time
b) not a difficult task for a single country

c) very expensive and complicated task

18) Programmes of space exploration are conducted between ... .

a) India, Russia, Sweden and other countries
b) Austria, France, Switzerland and other countries
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¢) Russia, Argentina, India, France and other countries
19) Beibepute npeasioxkeHue, He COOTBETCTBYIOIIEE COIECPIKAHUIO TEKCTa!
a) Everyone is interested in Russia-US cooperation in space exploration.
b) The development of new sources of power is one of the examples of scientific research.
c¢) Nobody is interested in Russia-US cooperation in space exploration.
20) Beibepure npeioxkeHrne, COOTBETCTBYIOIIEE COJEPIKAHUIO TEKCTA:
a) Scientific ventures of space exploration are a sign of mutual trust but they can’t strengthen  peace.
b) Scientific programmes of space exploration are a sign of mutual trust and human cooperation.
¢) Scientific ventures of space exploration can’t strengthen peace.
Il. Becena mo teme “My family” (Bec — 0,2).
Buner Ne 2
l. Tect Ne 2 (Bec Bompoca - 0,04).
Buvibepume npasunvnuiii 6apuanm omeema:
1) A computer usually ... information very quickly.
a) process b) processes C) is processing d) has processed
2) What ... you ... at that time yesterday?
a) was ... doing b)did ... do c) were ... doing d) have ... done

3) The parcel will have been delivered ... .

a) by 9 o’clock next morning b) at 9 o’clock in the morning
¢) tomorrow d) since 9 o’clock in the morning

4) First computers ... control machines at factories.

a) mightn’t b) couldn’t c) didn’t have to d) were not allowed to
5) English ... all over the world.

a) speak b) is speaking C) is spoken d) spoken

6) Mr. Brown heard a car ... near his home.

a) stop b) to stop c) to have stopped d) have been stopped

7) The lesson is over. You ... go.

a) can to b) need C) may to d) may

8) Manchester is ... than Glasgow.
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a) more big b) bigger c) the biggest d) the most big
Buvibepume npasunvhwiii 6apuanm nepesooa npediodNCeHusL:
9) TBos cecTpa cTajia XOPOIINM YYUTEIEM.

a) Your sister has become a good teacher. b) Your sister had become a good teacher.
c) Your sister is a good teacher. d) Your sister is sure to become a good teacher.

Br16epuTe npaBUIIbHBIN BapHaHT OTBETA:
10) There was ... snow last year.
a) many b) much c) a few d) few
Hpoqmume cmamovio.”
Train of Memory to visit WWII battlefields ahead of Victory Day

The Train of Memory carrying veterans of World War Two and young people will depart on Monday
from Russia's Baltic Sea exclave of Kaliningrad and head to Russia's Smolensk and Belarus's Brest as
part of WWII commemorations, the Kaliningrad region's government spokesman has said.

"More than 400 people, both the youth and veterans, will take part in this patriotic action, dedicated to
the 65th anniversary of the victory [in WWII]," the spokesman said.

He said the Kaliningrad residents travelling by the Train of Memory would visit a range of places in
Smolensk and its neighborhood, related to the history of WWII, including the Katyn forest, where more
than 20,000 Polish POWSs were massacred by Soviet secret police during the war.

The spokesman said the participants in the action would also visit the Brest Fortress in the Belarusian
city of Brest, which had been a scene of bloody battles between Nazi and Soviet troops during WWII.
Both Smolensk and Brest were declared Hero Cities for outstanding heroism during the Great Patriotic
War.

The Train of Memory will reportedly return to Kaliningrad on April 24.

During the memorial tour, the participants in the action are expected to issue "battle leaflets", similar to
those which soldiers used to read during the war to learn the news, and a newspaper focusing on the
participants' impressions from the trip, the spokesman said.

Similar actions take place regularly in Russia. In previous years, the Train of Memory travelled from
Kaliningrad to Moscow, St. Petersburg and VVolgograd ahead of the Victory Day.

Buvibepume npasunvhuili gapuanm omeema:

11) ... Train of memory to visit WWII battlefields ahead of Victory Day.
a) The author of the article is

b) The headline of the article I have read is

c) The article is printed in

12) The main idea of the article is ... .

a) bloody battles between Nazi and Soviet troops during WWII
b) to issue battle leaflets focusing on the participants impression from the trip
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c) to give a coverage of the patriotic action undertaken by the youth and veterans of Kaliningrad to
celebrate the 65th anniversary of the Victory in WWII

13) The author starts by telling the reader about ... .

a) visiting a range of places in Smolensk related to the history of WWII and also the Brest Fortress in
Belarus by the Kaliningrad residents

b) the announcement made by the regional government representative regarding the departure of the
Train of Memory from Kaliningrad

c) the declaration of both Smolensk and Brest Hero Cities for outstanding heroism during the Great
Patriotic War

14) The article goes on to say that ... .

a) the participants in the action are sure to issue “battle leaflets” to share their impressions from the trip
b) the participants will visit the Katyn forest
c) the participants will also visit Moscow, St. Petersburg and VVolgograd

15) In conclusion the author writes that ... .

a) the Train of Memory will take veterans to Moscow, St. Petersburg and VVolgograd
b) more than 20,000 Polish POWs were killed in the Katyn forest
c) the Train of Memory is a regular practice in modern Russia

Hpoqmume mekcm.
DEEP TROUBLE

An experimental undersea telephone cable in the Canary Islands had to be lifted from the ocean floor
three times because of breakage (reucnpasuocts). Each time sharks’ (akyna) teeth were found in the
damaged (moBpexnenHsiit) cable. Though the cable contains optical fibres transmitting signals in the
form of light, it carries a very small amount of electrical wires. It is known that electricity attracts sharks.
Therefore, ordinary electric power cables are usually provided with some kind of protection to stop their
being attacked by sharks. However, it was not expected that it was necessary to mount this expensive
protection on the new cable. But provided the designers had used this conventional protection on the
new cable, the sharks would not have approached it.

Buvibepume npasunvhuiti 6apuanm omeema:

16) What attracted sharks to the undersea telephone cable?

a) the specific heat emitted by it

b) an electrical current passing through the wires

c) light signals transmitted by optical fibres

17) Why did they have to lift the experimental undersea cable three times?
a) because it was damaged by sharks

b) because the Green peace movement insisted on it

¢) because submarines attacked and tore out (pa3psiBath) the cable

18) Common electric power cables are as a rule equipped ... .

a) with an alarm system for warning divers
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b) with some kind of protection against sharks
c¢) with Dolby sound system

19) BriGepure BbIpakeHHE, COOTBETCTBYIOIIEE CONCPKAHUIO TEKCTA:
a) It was decided to install costly protection on the new cable.
b) The telephone people provided good protection for the experimental cable.
c) The telephone people failed to protect the new cable.
20) BriOepute BbIpakeHUE, HE COOTBETCTBYIOIIEE COJIEPIKAHUIO TEKCTA!
a) If the designers had put a necessary protection on the new cable it would have not been damaged by
Er)]a'ltlr(lse'cable had been attacked by sharks many times.
c) After attacking the cables sharks were killed by a high voltage current.
Il. Becena mo reme “My working day” (sec — 0,2).
buser Ne 3
I. Tect Ne 3 (Bec Bonpoca - 0,04).
Buvibepume npasunvhuiii 6apuanm omeema:
1) Ann usually ... much time on the home task.
a) spend b) spends c) is spending d) has spent
2) This building is ... than that one.
a) the most beautiful b) beautiful c¢) more beautiful d) beautifuller
3) Who has done it ... ?
a) already b) yet c) yesterday d) tomorrow
4) Excuse me, I ... for a phone box. Is there one near here?
a) am looking b) look ¢) are looking d) was looking
5) Computers ... in all spheres of life today.
a) use b) are used c) used d) is used
6) By the age of six Mozart ... already ... his first composition.
a) has ... written b) did ... write c) have ... written d) had ... written

7) Having lost the key, they ... get in.

a) couldn’t b) couldn’t to ¢) didn’t have to d) were not allowed to
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8) He gave up ... .

a) to smoke b) smoke c) smoking d) having smoked
Buibepume npasunvHulil 6apuanm 6onpoca K npeoioAHceHUuo:

9) Students take exams twice a year.

a) How often students take exams?

b) How often do students take exams?

c¢) How often students do take exams?

d) How often did students take exams?

Buibepume npasunvhblii 6apuanm omeema.:
10) Statistics is a science ... with study of numeral facts and data.

a) being dealt b) having dealt c) dealing d) having been dealt
Hpoqmume cmamovio.”

CASTRO REESTABLISHES SOVIET-ERA LINKS
Cuban President Raul Castro visited the Russian capital in a historic trip in order to reestablish (BHOBB
yctanoBuTh) links with the former (6siBIIHIT) SOViet Union.
Castro’s eight-day official visit began last week. He came to Russia after President Dmitry Medvedev
paid a visit to Cuba in November.
At a Kremlin meeting, the two presidents signed agreements including a state loan (3aem) of $ 20 million,
food aid, and funds to import Russian civilian (rpaxnanckuii) and military aircraft (aBuaTexHuka).
The head of Russia’s Latin America Institute said that the main area of cooperation between Russia and
Cuba was energy. He said that with Russia’s help Cuba would develop oil fields on the coast
(mobepexne) and even become an energy exporter. He pointed out two other important sectors — Civilian
aviation and pharmaceuticals. Cuba makes some of the best medicine in the world, and Russia could
benefit from its relatively cheap prices. Meanwhile, Aeroflot plans to form a joint venture (coBMecTHOE
npennpusitie) with Cuba’s national airline, which could encourage (cnoco6ctBoBaTh) Russian tourism
in Cuba.
Experts say that geopolitically, the dozens of agreements signed during the latest Castro’s visit to Russia
demonstrate not so much an attempt to annoy (pa3apaxarts, gocaxaars) Washington, but are part of
Moscow’s effort (momsiTka, ycunue) to build up its trade and investment strategy in Latin America.

Coenacro CanprCClHuIO mecma, 6b16epume npaeuﬂbelﬁ eapuannm omeema.

11) The author starts by telling the reader that the purpose of Raul Castro’s visit to Russia was ... .
a) to violate a treaty with the Soviet Union

b) to resume relations with Russia

c) to tour the Russian Federation

12) According to the text it was ... .

a) a return official visit b) an eight-day working visit c) an unofficial friendly visit

13) The article goes on to say that in Kremlin the two presidents ... .
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a) exchanged information on the USA
b) received a delegation of Russia’s Latin American Institute
c) signed a number of agreements

14) The author points out that Russia and Cuba cooperate in ... .
a) energy b) energy and engineering c) energy, civil aviation and pharmaceutical
15) The author comes to the conclusion that Castro’s visit demonstrates Russia’s attempt to ... .

a) annoy Washington b) establish economic relations with Latin Americac) form a joint venture
with Cuba’s national airline

Hpoqmume mekcm.
Kulibin is one of the Most Talented Engineers

Kulibin was the first to think of spanning the river with an arched bridge. According to his plan the
bridge was to have a single span to leave a free waterway for ships and barges. It was a daring idea:
arched bridges of similar construction had been built before but no engineer dared even to think of
constructing a bridge with a three hundred metre span.

Kulibin set to work at his design with a deep determination to carry out his plan. Working at three models
in succession he tried each time to improve his design, to verify every detail of his computation by
careful experimenting so as not to admit the slightest error. At last he succeeded in making a construction
which is made use of even in our days.

After the model was completed it had to be submitted to a special commission set up by the Academy
of Sciences. At the time of Catherine Il the Academy was invaded by foreign scientists and specialists
who thought themselves to be much superior to Russian people whose intellect and talent.

No Russian was expected to possess higher skill and knowledge than a representative of West European
culture. Only one of the academicians — the great mathematician ruler — acknowledged Kulibin’s genius:
he carefully studied all his drafts and computations and found them to be quite correct.

All the rest of the academicians were sure that the model being tested would prove a failure.

Onpe()eﬂume, A61emcs iU OaHHOe 8bICKA3bI8AHUE.

a) UICTUHHBIM b) noxHbIM C) B TeKCTE HET HHPOPMAITUH.

16) All the academicians were in favour of his decision and hoped it would be a success.
17) Kulibin received a lot of proposals to build such bridges abroad.

18) Kulibin designed a river bridge with a huge single span that turned out to be a new idea in bridge
construction.

19) BriGepute npeaioxkeHne, COOTBETCTBYIOIIEE TEKCTY:
a) Foreigners working in the Academy didn’t think high of engineering skill and ability of Russian
people.

b) Guest scientists found Russian scientific society equal by intellect and talent.
¢) The Academy of science invaded by foreign people did a lot to develop Russia.
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20) Beibepure npeioxkeHre, He COOTBETCTBYIOIIEE TEKCTY:
a) The representatives of West European culture despised the country where they lived and worked.
b) Many academicians supported Kulibin’s idea to build an arched bridge.
c¢) Only one academician believed in Kulibin and helped him to defend his design.
Il. Becena mo teme “Flat” (Bec — 0,2).
Buier Ne 4

. . Tect Ne 4 (Bec Bonpoca - 0,04).
Buvibepume npasunvhuiii apuanm omeema:
1) They ... Russian to the teacher in class. They speak English.
a) do speak b) don’t speak c) aren’t speak d) speaks
2) We didn’t finish this work yesterday, ... ?
a) didn’t we b) weren’t we c) did we d) were we
3)I... never ... to Moscow.
a) have ... been b) has ... been c) had ... been d) have not ... been
4) She will have written this article ... .
a) tomorrow  b) by 3 o’clock tomorrow  c) at 3 o’clock tomorrow  d) since 3 o’clock tomorrow
5) This exercise is ... than that one.
a) easy b) easier C) more easy d) the easiest
6) Yesterday we ... to the café by John Jenkins.
a) was invited b) invited c) were invited d) had been invited
7) Nobody answers the phone. They ... be out.
a) should b) must C) can d) could
8) She ... them an interesting story when I came home.
a) was telling b) were telling c) told d) is telling
9) ... the wrong direction we lost our way.
a) showing b) having shown ¢) having been shown d) being shown

Buvibepume npasunivhbviil 6apuanm nepesooa:

10) I want my children to speak English fluently.
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a) 51 Xo4y TOBOPUTBH CO CBOUMH JIETHMH Ha AaHTIIUHCKOM SI3bIKE CBOOOJIHO.

b) Xaib, 4To MOM JI€TH HE TOBOPSAT HA AHTIMHUCKOM SI3bIKE CBOOOJIHO.

C) 51 xo4y, 4TOOBI MOH JE€TH TOBOPWIIM Ha aHIIIUICKOM SI3bIKE CBOOOJIHO.

d) XKaub, 4TO 51 HE MOTY TOBOPUTH CO CBOUMHU JICTbMH Ha aHTJIMICKOM SI3bIKE CBOOOJIHO.

IIpoumume cmamuvio:

ST. PETERSBURG MARKS ANNIVERSARY OF SIEGE
ST. PETERSBURG (RIA Novosti) — St. Petersburg is marking on Tuesday the 65-year anniversary since
the end of a 900-day Nazi blockade, one of the most dreadful sieges (ocama) in modern world history.

“This is a tragic and heroic page in our history,” St. Petersburg Governor Valentina Matviyenko said in
a congratulatory message. “The defenders (3ammrHukm) and residents of the city underwent
(momBepranuce) unthinkable trails (ucmbsiTanus) — starvation (rosox), bitter cold, bombardments. Our
city lived on, fought and worked.”

The Siege of Leningrad, now St. Petersburg, lasted from September 1941 to January 1944, when food
and military supplies (3anmacer) were brought to the city via Lake Ladoga, the only route named the Road
of Life that connected the city with the mainland.

At least 800,000 people died in Leningrad during the siege, according to official figures.

In January 1942, in the unusually cold winter, the city’s food rations reached an all time low of only 125
grams (about % of a pound) of bread per person a day. In just two months, 200,000 people died in
Leningrad of cold and starvation.

The date is widely celebrated in the city and across the country. Wreath-laying (Bo3iokeHre BEHKOB)
ceremonies are held at St. Petersburg’s memorial cemeteries, attended by blockade survivors, WWII
veterans and city officials. Charity (6marorBoputensHocTh) concerts, exhibitions and other events are
also on the program.

President Dmitry Medvedev, who was born in St. Petersburg, is on a visit to the city. On Tuesday, he
laid flowers at a war monument at the Piskaryovskoy Memorial Cemetery, the resting place for over
500,000 people who perished during the siege, and attended a reenactment of the WWII battle that ended
the siege.

Coenacro cooepacanuro mecma, gbloepume npasuIbHblU GAPUAHN OMEEMA:
11) The article is devoted to ... .

a) a 900-day Nazi blockade
b) Dmitry Medvedev visit to St. Petersburg
c) celebrating the 65-year anniversary since the end of the siege of Leningrad

12) The author starts by telling the reader that ... .

a) 800,000 people died in Leningrad during the siege
b) the city Governor congratulated the citizens on the anniversary
¢) Valentina Matviyenko underwent many trials during the siege

13) Further the author lists some facts and figures in order to ... .
a) give the reader some information on the president’s visit to the city
b) provide the reader with some data on the siege

c) describe Lake Ladoga

14) According to the text the celebration program includes ... .
a) wretch-laying ceremonies, charity concerts, exhibitions, etc.
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b) starvation, bitter cold and bombardments
c) 125 grams of bread per person

15) In conclusion the author ... .

a) describes a reenactment of the WWI1 battle that ended the siege
b) writes about some famous people who were born in St. Petersburg
c) writes about President’s visit to the city

Hpoqmume mekcm.

OUR PLANET EARTH
Today, our planet is in serious danger. Acid rains, global warming, air and water pollution,
overpopulation are the problems that threaten human life on Earth.
Our forests are disappearing because they are cut down or burnt. If this trend continues, one day we
won't have enough oxygen to breathe.
The seas are in danger. They are filled with poison: industrial and nuclear waste, chemical fertilisers and
pesticides.
Every ten minutes one kind of animal, plant or insect dies out for ever. If nothing is done about it, one
million species that are alive today may soon become extinct.
Air pollution is another serious problem. In Cairo just breathing the air is dangerous — equivalent to
smoking two packs of cigarettes a day. The same holds true for many Russian cities.
Factories emit tons of harmful chemicals. These emissions have disastrous consequences for our planet.
They are the main reason for the greenhouse effect and acid rains.
Fortunately, it's not too late to solve these problems. We have the time, the money and even the
technology to make our planet a better, cleaner and safer place. We can plant trees and create parks for
endangered species. We can recycle litter. We can support green parties and put pressure on those in
power. Together we can save the planet and all of us with it.

Onpe()eﬂume, AenAaemcs jau czzedyiou;ee 6blCKA3bl6AHUE.

a) UICTUHHBIM b) noxHBIM C) B TeKCTE HET HHPOPMAITHH.

16) Today, our planet is in such serious danger that we can do nothing about it.
17) The air in many Russian cities is as dangerous as in Cairo.
Buvibepume npasunvhuili gapuanm omeema:.

18) Extinction is ... .

a) for ever b) for a while ¢) for a long time

19) Acid reins are caused by ... .

a) factories emissions b) extinction of the seas c) global warming
20) B rekcte Beipakenue greenhouse effect nepeBoaurcs kak

a) IeNCTBUSA apTUHU 3€JIEHBIX

b) adbdexTrBHBIE MEPOTIPUATHS ITO 03ETIEHEHHIO TOMOB

C) MapHUKOBBIN 3P PexT

Il. Becena mo Teme “Great Britain (sec — 0,2).
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Buier Ne §
l. Tect Ne 5 (Bec Bompoca - 0,04).
Bovibepume npasunvhbiii 6apuanm omeema:
1) Hockey ... in winter.
a) play b) is playing c) plays d) is played
2) London is ... than New York.
a) older b) more old c) the most old d) the oldest
3) Where ... your daughter study?
a) does b) do c) has d) is
4) My cousin ... to school every day.
a) goes b) go c) went is going
5) We have much time at our disposal, we ... hurry.
a) must b) cannot ¢) should d) needn’t
6) Yesterday I ... a nice dress at the shop.
a) am buying b) buy c) buys d) bought
7) We shall be writing a test ... .
a) tomorrow b) by 2 p.m. tomorrow c) at 2 p.m. tomorrow d) yesterday
8) They ... never ... to Washington.
a) has ... been b) has not ... been c) have not ... been d) have ... been
9) The place is worth ... .
a) visited b) visiting c) to visit d) visit
Buvibepume npasunvubiii 6apuanm omeema:
10) The interview ... by the President was devoted to economic problems.
a) having given b) given ¢) being given d) having been given
Ilpoumume cmamuio:

ADS TO BE ABANDONED

The Chairman of the Moscow Committee for Heritage (nacnenue), Valery Shevchuk, announced on the
same day that Tverskaya, Varvarka and Ordynka Ulitsas should be included in the advertising free zone.
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Few people would deny (to deny - orpumars, onposeprats) that Moscow has a lot of advertising.

“I think that it is unusual for a capital with such historic value as Moscow to be using as much
advertising,” one marketing expert told The Moscow News. “In general, Moscow is quite a big market.
It is unusual for 16 or 17 percent of available space to be given over to outdoor advertising, as Moscow
has done. London, for example, has only 2-3 percent.”

Official estimates (moxcuer) are that the city will lose around 100 million rubles in revenue (1oxoxm).
“That’s close to our estimate,” Andrei Berezkin told The Moscow News. “Advertising of this kind
around Moscow earns the city around $15 million a year, the total revenue from all kinds of advertising
is about $800 million,” he said.

The phasing out (mostanmHoe cokpamenue) of advertising is to happen over the course of this year, and
it will be difficult to anticipate how the cityscape will change.

“I have doubts about whether advertising will be scaled down (to scale down - camxkarts) to this extent,”
the marketing expert said. “Very often nothing happens when such intentions are declared, it can be
nothing more than rhetoric to win internal battles between outdoor advertisers. Luzhkov is ready to
discuss the issue.”

Bovibepume npasunvubiii 6apuanm omeema:

11) The article is devoted to ... .

a) losing 100 million rubles

b) the positive effect of advertising in large cities

¢) the removing outdoor advertising from Moscow’s areas of historical importance
12) The author starts by telling the reader that ... .

a) it is harmful for Moscow with its historical value to use much advertising

b) Tverskaya, Varvarka and Ordynka Ulitsas should be included in the advertising free zone
¢) Valery Shevchuk thinks that Moscow hasn’t a lot of advertising

13) According to the text ... .

a) as a rule world capitals give 16 or 17 percent of available space to outdoor advertising
b) Paris has given only 4 percent to outdoor advertising

c) 16-17 percent of available space in Moscow is given to outdoor advertising

14) The article goes on to say that ... .

a) it is unprofitable for Moscow to have all kinds of advertising

b) the city would lose around 100 mln roubles if it removes outdoor advertising from Moscow’s areas
of historical importance

c) citizens are indifferent to the advertising placed in historical territories

15) In conclusion the author says that ... .

a) without advertising the cityscape will change

b) the major of Moscow is ready to discuss the problem

¢) nothing happens in solving this issue

IIpoumume mexcm:
WE MAY HAVE NO CHOICE
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We've climbed the highest mountains, conquered the deepest oceans and crossed the widest deserts. It
seems there’'s little left for us to see on this planet. So what's next?

Space, of course. The idea of living on a space station or in a lunar city may sound like science fiction,
but a hundred years ago no one even heard of an aeroplane — yet today more than 500 million people a
year travel by air.

We may have no choice, in any case.

The world's population is growing at a rate of 97 million a year. It means that by the middle of the
century there will be so many people on our planet that if everyone in India jumped up and down at the
same time, it would cause a tidal wave big enough to cover Europe.

Greenpeace warns that if we continue to burn fossil fuels at the same rate as we do today, global warming
will reach catastrophic levels. They predict sinking continents and severe drought. Add to that the
problems caused by hunger, disease, war and natural disasters, and you will see why space agencies
across the globe are pouring millions of dollars into space research.

The first pieces of the International Space Station have been launched — a giant project which will allow
scientists to carry out ground-breaking research in technology and medicine and see just how long people
can live in space.

So sometime in this century we might very well see the emergence of a space generation — that means
humans born and raised somewhere other than Earth.

Onpedenume, A615emcs iU OAHHOE BbIPACEHUE.

a) UCTUHHBIM b) noxubIM C) B TEKCTE HET WH(pOpMAIHU

16) Space exploration is carried out for the good of the whole mankind.
17) The world’s population has stopped growing.

18) The Soviet Union was the first to launch a space station.
3aKOHYUTE NMPEAJIOKEHNUE!

19) Global warming is caused ... .

a) by burning fossil fuels on a large scale

b) by carrying out ground-breaking research in technology

c) by Greenpeace warnings

20) Space research helps to find ways to protect the mankind from ... .
a) terrorism, drug trafficking, hunger

b) hunger, disease, war, natural disasters

c) disease, aggression, natural disasters

II. Becena mo teme “London” (Bec — 0,2).

Buier Ne 6
I. Tect Ne 6 (Bec Bompoca - 0,04).

Buvibepume npasunvHulil 6apuanm omeema:
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1) Mr. Brown heard a car ... near his home.

a) have been stopped b) to have stopped c) to stop d) stop

2) Manchester is ... than Glasgow.

a) bigger b) the biggest ¢) the most big d) more big

3) A computer usually ... information very quickly.

a) has processed b) process C) processes d) is processing

4) First computers ... control machines at factories.

a) didn’t have to b) were not allowed to ¢) mightn’t d) couldn’t
5) What ... you ... at that time yesterday?

a) was ... doing b) were ... doing c) have ... done d)did ... do
6) The lesson is over. You ... go.

a) need b) may to C) may d) can to

7) English ... all over the world.

a) is speaking b) is spoken C) spoken d) speak

8) The parcel will have been delivered ... .

a) at 9 o’clock in the morning  b) since 9 o’clock in the morning
¢) by 9 o’clock next morning d) tomorrow

Buvibepume npasunvHulll 6apuanm omeema:

9) We haven’t seen this film ... and as to Jane, she saw it ... .

a) already, just now b) yet, already c) yet, last month d) last month, just
Buvibepume npasunivhbili 6apuanm nepesooa npeodsioHceHUs:

10) TBos cecTpa cTana XOpOLIUM YUUTEIIEM.

a) Your sister is a good teacher. b) Your sister is sure to become a good teacher.
¢) Your sister has become a good teacher. d) Your sister had become a good teacher.

Hpoqmume cmamsiro!

NATO REOPENS TALKS WITH RUSSIA
The Western military alliance agreed to reopen talks at the NATO-Russia Council in a meeting of 26
foreign ministers in Brussels on Wednesday.
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NATO and Russia play an important role in maintaining European and global security, RIA Novosti
quoted (to quote - nutupoBath) NATO Secretary General Jaap de Hoop Scheffer as saying on Thursday
morning.

“While not shying away (to shy away - yknonstecs) from the serious differences of opinion that remain
between NATO and Russia, in particular about Georgia, we also acknowledge (npusnaBath) that we
have obvious common interests with Russia: Afghanistan is one, but counterterrorism and the fight
against WMD (Weapons of Mass Distraction — opyxwue MaccoBoro mnopaxkenwus) proliferation
(pactipoctpanenue) are others,” Scheffer said, The Associated Press reported.

U.S. Secretary of State Hillary Clinton endorsed (to endorse - mognepskats) the resumption of talks,
signalling a dramatic change of attitudes in Washington since President Barack Obama took office. “It
is time to move ahead, not wait in place with the illusion that things will change on their own,” she said,
AFP reported.

Relations between Russia and the United States have seen considerable improvements since Obama’s
inauguration in January. Foreign policy analyst lvan Safranchuk said he saw two -catalysts
(xatanuzaropsl) for the recent decision Russia’s agreement to allow transit for cargo (rpy3) bound for
NATO troops (Boiicka) in Afghanistan, and the positive signals coming from the Obama administration.
The New York Times reported last week that Obama had sent a letter to President Dmitry Medvedev,
offering to scrap the controversial (ciopusIit) missile shield program in Eastern Europe if Moscow could
get (3acraButp) Iran to scrap its nuclear weapons programme. The Kremlin denied that it was offered
the bargain (cmenka), and Obama later denied sending the letter.

Buvibepume npasunvHulil 6apuanm omeema:
11) The author starts by telling the reader that NATO decided ... .

a) to arrange a meeting of 26 foreign ministers in Brussels on Wednesday
b) to resume talks with Russia
c) to restore the NATO-Russia Council

12) According to the text Russia and NATO have different points of view about ... .
a) Afghanistan b) counterterrorism c) Georgia
13) The article goes on to say that U.S. Secretary of State ... .

a) approved the resumption of talks
b) suggested to wait until things change on their own
c) changed her attitude to President Barack Obama

14) The author points out that since Obama’s inauguration relations between Russia and the United
States ... .

a) have become better b) have changed for the worse c¢) haven’t changed much
15) The New York Times’ information on Obama’s letter to President Dmitry Medvedev was ... .

a) confirmed by both sides b) spreaded in Eastern Europe c) disproved by both sides
Hpoumume mexkcm.

"SMOG" WAS INVENTED IN BRITAIN
It was in Britain that the word "smog" was first used (to describe a mixture of smoke and fog). As the
world's first industrialized country, its cities were the first to suffer this atmospheric condition. In the
19th century London's "pea-soupers” (thick smogs) became famous through descriptions of them in the
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works of Charles Dickens and in the Sherlock Holmes stories. The situation in London reached its worst
point in 1952,

At the end of that year a particularly bad smog, which lasted for several days caused about 6,000 deaths.
Water pollution was also a problem. In the 19th century it was once suggested that the Houses of
Parliament should be wrapped in enormous wet sheets to protect those inside from the awful smell of
the River Thames. People who fell into the Thames were rushed to hospital to have their stomachs
pumped out!

Then, during the 1960s and 1970s, laws were passed which forbade the heating of homes with open coal
fires in city areas and which stopped much of the pollution from factories. At one time, a scene of fog
in a Hollywood film was all that was necessary to symbolize London. This image is now out of date,
and by the end of the 1970s it was said to be possible to catch fish in the Thames outside Parliament.
However, as in the rest of western Europe, the great increase in the use of the motor car in the last quarter
of the 20th century has caused an increase in a new kind of air pollution. This problem has become so
serious that the television weather forecast now regularly issues warnings of "poor air quality”. On some
occasions it is bad enough to prompt official advice that certain people (such as asthma sufferers) should
not even leave their houses, and that nobody should take any vigorous exercise, such as jogging, out of
doors.

16) 3aBepinTe npeanoxKeHue:

Britain cities suffered atmospheric condition because ... .

a) there were too many industrial enterprises in Britain

b) there were a lot of agricultural districts there

c) Charles Dickens described thick smogs in his works
Omnpenenure, IBIASETCS U CIEAYIOIIEe MPEI0KECHHE:

a) UICTUHHBIM b) noxHBIM C) B TeKCTE HET HHPOPMAITHH.

17) Britain laws didn’t permit the heating of homes with open coal fires in the city areas.

18) Now it is all that is necessary to symbolize London in a Hollywood film is a scene of fog.
Buvibepume npasunvhuili gapuanm omeema:

19) A new kind of air pollution in Europe is ... .

a) the use of coal while heating the homes b) the use of wet sheets
¢) the use of the motor car

20) It was suggested to wrap the Houses of Parliament in wet sheets in order ... .
a) to protect it from the flood of the River Thames

b) to protect it from water pollution

c) to protect it from the harmful smell

II. Becena mo teme “About my family and myself” (Bec — 0,2)

Bbuaer Ne 7
l. Tect Ne 7 (Bec Bompoca — 0,04).

Buvibepume npasunvhuiti 6apuanm omeema:
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1) Hegave up ... .
a) having smoked b) smoking c) smoke d) to smoke
2) This building is ... than that one.
a) beautifuller b) more beautiful c) beautiful d) the most beautiful
3) Computers ... in all spheres of life today.
a) is used b) used c) are used d) use
4) Ann usually ... much time on the home task.
a) spends b) spend c) has spent d) is spending
5) Who has done it ... ?
a) tomorrow b) yesterday c) yet d) already
6) Excuse me, I ... for a phone box. Is there one near here?
a) was looking b) am looking c) look d) are looking
7) Having lost the key, they ... get in.
a) didn’t have to b) couldn’t to c¢) were not allowed to d) couldn’t
8) By the age of six Mozart ... already ... his first composition.
a) had ... written b) have ... written c) has ... written d) did ... write
Onpedenume GyHKYUO UHGUHUMUBA 8 NPEONONHCEHUU!
9) To do this means changing the whole system.
a) OOCTOSITEILCTBO b) moanexariee C) IOTIOJTHEHHE d) gacTh COCTaBHOTO CKa3yeMOro
Buvibepume npasunvHulll 6apuanm 6onpoca K npeoioAHCeHUo:
10) Students take exams twice a year.
a) How often students do take exams? b) How often did students take exams?
¢) How often students take exams? d) How often do students take exams?
Upoumume cmamsiro!
Pulp mill near Lake Baikal to reopen in May despite protests
A controversial pulp mill (memmono3no-6ymaxkubrii komOouHaT) on the shores of Lake Baikal will return

to full production in May despite large-scale public protests, the Industry and Trade Ministry said on
Tuesday.
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The Baikal Pulp and Paper Mill stopped commercial production 18 months ago, after its switch
(mepexon) to a closed-water cycle to ease (o6aerunTs) environmental problems proved unprofitable.
Andrei Dementyev, a deputy minister, said Russia's environmental regulator still had some questions
regarding the plant's operation but they would be considered (to consider — paccmarpuBats) and the pulp
mill would reopen in May.

Environmental protests broke out after Prime Minister Vladimir Putin signed a resolution in mid-January
excluding (to exclude — uckmirouats) the production of pulp, paper and cardboard from the list of
operations banned (to ban — 3anpemats) in protected areas around Lake Baikal, which is a UNESCO
World Heritage Site.

A public campaign to close or convert the Baikal Pulp and Paper Mill built in 1966 on the shores of the
world's largest freshwater lake became one of the symbols of Glasnost, the "openness™ policy proclaimed
by Soviet leader Mikhail Gorbachev in the late 1980s.

It involved the nation's leading statesmen and literary figures and forced (to force — 3acraBisTh,
BBEIHYX1aTh) the Soviet authorities to promise to stop pulp production by 1993.

The collapse of the Soviet Union in 1991 delayed (to delay — orcpounBars) the plant's closure, and it
was only in October 2008 that the plant switched over to a closed water cycle, preventing the discharge
of waste (cOpoc oTxo0B) into the lake.

In late December 2009, the Baikal mill started testing new equipment ahead of its expected restart of
operations this year.

Buvibepume npasunvnuiii 6apuanm omeema:
11) The main idea of the article is that ... .

a) the collapse of the Soviet Union delayed the closure of the Baikal Pulp Mill
b) the Baikal Pulp Mill will reopen despite public protests
c) the Baikal mill started testing new equipment

12) The author starts by telling the reader that ... .

a) the Industry and Trade Ministry announced that the Baikal Pulp would reopen in May
b) large-scale public protests against the Industry and Trade Ministry were held in May
c) a controversial pulp mill will be built on the shores of Lake Baikal

13) The author writes that the Baikal mill stopped commercial production because ... .
a) its switch to a closed-water cycle failed to solve environmental problems

b) Prime Minister Vladimir Putin signed a resolution excluding the production of pulp from the list of
banned operations

C) its switch to a closed-water cycle turned out to be unprofitable

14) According to the text a public campaign to close the Baikal Pulp Mill ... .

a) involved well-known statesmen and writers

b) was initiated by Prime Minister Vladimir Putin

¢) caused the collapse of the Soviet Union

15) In conclusion the author writes that the Baikal mill ... .

a) will test new equipment after it restarts its operation

b) has already started testing new equipment
c) restarted its operation in December 2009
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Hpoqmume mekcm.

WHY ARE WE SO EXCITED ABOUT THE INTERNET?
What exactly is it that gets us all so excited about the Internet?
As well as being a global network of networks, the Internet is a global network of people, ideas and
information. The Net is as interesting and exciting as the people, organisations, companies, governments
and weirdoes that are connected to it.
There is another thing that's exciting about the Internet. Like love and life, the Net is what you make it.
If you don't like what's happening on one part of the network, you can build yourself a whole new
cybercity, appoint yourself as mayor and run it exactly as you want.
The Internet enables you to do a lot of things simultaneously. You can read the latest copy of your
favourite newspaper while planning your night's TV viewing and ordering some cheap CDs from an
American discount disc store.
You can send e-mail to someone you've never met before ... Some people have "met"” over the Internet
and got married.
The first web browsers only supported simple texts and images, but now a multitude of multimedia plug-
ins enables webpages to sing and dance.
From PC banking to online shopping and chats with celebrities, the Internet is already changing our
lives. The arrival of digital TV promises even more exciting things.

Onpedeﬂume, S615emcs iU OaHHOoe 8bICKA3bI8AHUE.

a) HICTHHHBIM b) moxHBIM C) B TEKCTE HET nHpOpMaIuu
16) the Internet has become an integral part of our life.

17) Digital TV is likely to replace the Internet in the near future.
18) The Internet is forbidden in some Islamic states.

19) BriGepute npeioxkeHne, COOTBETCTBYIOIIEE TEKCTY:

a) The Internet doesn’t make it possible to do a lot of things at a time.
b) The Internet broadcasts sporting events all over the world.

c) The Internet is widely used in economic activities.

20) Beibepute npaBUIIbHBIN BapHaHT OTBETA:

You can send E-mail ... .

a) to anybody

b) to someone you’ve met before

c) the people you have “met” over the “”’Internet

I1. Becena mo Teme “The political system of Great Britain” (Bec — 0,2).

Bbuaer Ne 8
.Tect Ne 8 (Bec Bompoca — 0,04).

Buvibepume npasunvhwiti 6apuanm omeema:

1) She ... them an interesting story when I came home.
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a) were telling b) is telling c) was telling d) told

2) They didn’t finish this work yesterday, ... ?

a) were they b) did they c¢) weren’t they d) didn’t they

3) This exercise is ... than that one.

a) easier b) more easy c) the easiest d) easy

4) ... the wrong direction we lost our way.

a) being shown b) having been shown c) having shown d) showing
5) They ... Russian to the teacher in class. They speak English.

a) don’t speak b) do speak c) speaks d) aren’t speak

6) I ... never ... to Moscow.

a) have not ... been b) have ... been ¢) has ... been d) had ... been
7) She will have written this article ... .

a) by 3 o’clock tomorrow  b) at 3 o’clock tomorrow  c¢) since 3 o’clock tomorrow
8) Nobody answers the phone. They ... be out.

a) must b) can c) could d) should

9) Yesterday we ... to the café by John Jenkins.

a) invited b) had been invited c) was invited d) were invited
Bovibepume npasunvhbviii 6apuanm nepesooa:

10) I want my children to speak English fluently.

a) XKasb, 4TO MOM J1IeTH HE TOBOPSAT HA aHTJIMHCKOM SI3bIKE CBOOOJIHO.

b) }Kam,, 9TO 51 HC MOT'y TOBOPUTH CO CBOUMHU JCTbMH HA AHTJIMHCKOM SI3BIKE CB060,Z[HO.

C) S xouy, yTOOBI MOM JI€TH TOBOPUJIM HA AHTJIMHCKOM SI3bIKE CBOOOJIHO.
d) I xo4y roBOpUTH CO CBOMMH JIETHbMH Ha QHTJIMHCKOM SI3bIKE CBOOOTHO.

Upoumume cmamsio.

US POLICY LED TO GLOBAL CRISIS

d) tomorrow

“It is precisely the gap (mpomacts, pa3psiB) between the United States’ formal role in the world economy
and its real capabilities that was one of the key reasons for the current crisis,” Medvedev told top business

executives in St. Petersburg.
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The current downturn (cnag) happened in part because the “aggressive financial policies of the world's
biggest economy led not only to the failure (mpoBan, Heymaua) of corporations. The majority of people
on the planet have grown poorer,” he said.

The very fact that President Medvedev gave extensive coverage (0030p) to economic problems may
indicate that he is becoming an independent and strong national leader. Before the speech was delivered
many observers suggested that Medvedev would leave the economic questions to Prime Minister
Vladimir Putin and concentrate on political issues instead. However, Medvedev made it clear that he has
some tough positions of his own concerning the economy.

“Russia is a global player,” the Russian president said. “We understand our responsibility for the fate of
the world and want to participate in forming the rules of the game, not because of so-called imperial
ambitions, but because... we have the resources.”

Foreign leaders and observers have been criticizing Russia recently for using its energy resources as a
political lever, but Medvedev countered this view by reversing the argument and presenting ownership
of resources as a value to be defended (to defend - 3amumars) — a previously unused argument. Secretary
Carlos Gutierrez said that the current global economic condition was a downturn and not a crisis, but
did not defend his country’s position.

Buibepume npasunvhuiti gapuanm omeema:.
11) The article is devoted ... .

a) to the origin of global crisis b) to Russia’s internal economic problems
c) to a downturn in world economy

12) The aim of the article is to provide the reader with some material on ... .

a) the global crisis as viewed by Russian President
b) the global peace movement
c) economic development

13) The author starts by telling the reader about ... .

a) US policy in the world
b) the speech of D. Medvedev at St. Petersburg Economic forum
c) the view of US Commerce Secretary Carlos Gutierrez

14) The article goes on to say that ... .

a) foreign leaders approve of Russia’s recent energy policies
b) the West doesn’t consider Russia a global player
¢) Russia begins to play an increasing role in the world economy

15) The author comes the conclusion that ... .

a) Medvedev’s speech was of great interest to foreign businessmen and political leaders
b) Russia was to hold talks with US authorities

¢) Russia should ignore the fate of the world

IIpoumume mexcm:

SCIENCE AND INTERNATIONAL COOPERATION

One of the most striking features (oTnuuurensHas yepta) of modern science is the increasing tendency
towards closer cooperation between scientists and scientific organizations all over the world.
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The exploration of space, world finance, global environment protection problems, the development of
new sources of power, such as atomic energy, are the examples of scientific research (uccinenoBanue),
which are costly (moporoit) and complicated (cmoxxnsiit). That is why it is difficult for a single country
to solve these tasks in a short period of time. Space exploration (ocBoenue) programmes are conducted
between Russia, Austria, India, France, Sweden and other countries. Everyone is interested in the
possibility (Bo3amosxHocTh) of Russia-USA cooperation in space exploration. Joint scientific ventures
(mporpammel) for benefit (Beiroaa, mosb3a, 61aro) of all mankind are a sign of mutual trust in human

cooperation that can only strengthen peace.

If we began to establish a cooperative relation in space today, this dream could be a reality. There is no
doubt (comnenme) that improved (ymyumennsie) relations between countries and cooperation in the

latest technology is the benefit of all mankind.

Buvibepume npasunvhuiii apuanm omeema:

16) The striking feature of modern science is ... .

a) increasing differences in scientific organizations

b) setting up scientific institutions all over the world

c) close cooperation of scientists

17) The development of new sources of atomic energy is ... .

a) not very expensive and this task may be solved in a short period of time
b) not a difficult task for a single country

c) very expensive and complicated task

18) Programmes of space exploration are conducted between ... .
a) India, Russia, Sweden and other countries

b) Austria, France, Switzerland and other countries

c) Russia, Argentina, India, France and other countries

19) BriGepute npeaioxkeHne, He COOTBETCTBYIOIIEE COJEPKaHUIO TEKCTa!

a) Everyone is interested in Russia-USA cooperation in space exploration.

b) The development of new sources of power is one of the examples of scientific research.

¢) Nobody is interested in Russia-USA cooperation in space exploration.

20) BriGepute mpeniokeHue, COOTBETCTBYIOIIEE COACPKAHUIO TEKCTa:

a) Scientific ventures of space exploration are a sign of mutual trust but they can’t strengthen peace.
b) Scientific programmes of space exploration are a sign of mutual trust and human cooperation.

¢) Scientific ventures of space exploration can’t strengthen peace.
I1. Becena o teme “The Russian Federation” (Bec — 0,2).
buier Ne 9

I. Tect Ne 9 (Bec Bompoca — 0,04).

Buvibepume npasunvubili 6apuanm omeema:
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1) They always ... most of their products on the home market.

a) sells b) have sold c) are selling d) sell

2) Sometimes he publishes his articles in the Financial Times, ... ?

a) don’t he b) isn’t he c) doesn’t he d) aren’t they

3) “Usually you type your essays.” — “Yes, but today I ... it. Something’s wrong with my computer.”
a) write b) am writing C) writes d) wrote

4) ... she ever ... of changing her job?

a) did ... think b) does ... think c) have ... thought d) has ... thought

5) Our Marketing Director made us ... this specialized exhibition.

a) visit b) to visit c) visiting d) visited

6) The ... method is very effective.

a) describing b) described c) describe d) to describe

7) He likes to do things without being disturbed.

a) OH MIOOHT 3aHUMATBHCSA JeNIaMU TaK, YTOObI HUKOTO HE OECIIOKOUTD.

b) On m00UT 3aHMMATKCS JIeIaMH TaK, YTOOBI €ro He OCCITOKOMIIH.

€) OH MrI0OUT 3aHUMATBHCA JeNlaMU TaK, YTOOBI BCe 0 HEM O0ECITOKOUITUCH.

8) Mike is ... boy in the group.

a) the cleverest b) the most clever c) cleverer d) more clever

9) The telegram ... by seven.

a) will have delivered b) will deliver c) will have been delivered d) had delivered

10) As | live far from the Institute I ... get up early.

a) have to b) must to C) can d) may

IIpoumume cmamuwio:
LAKE BAIKAL “UNUSUALLY CLEAN”

Novosibirsk (RIA Novosti) — Researches exploring the depths of Siberia’s Lake Baikal have found that
its unique ecosystem has kept the water cleaner than previously thought, despite industrial waste.

The worst polluter (uctounuk 3arpsizuenus) of the world’s deepest and oldest lake is a large pulp mill
(umesutio03H0-0yMaxkHbIi KoMOuHat) on Baikal’s southern shore. During recent mini-submarine dives
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(morpy»xenus), scientists have been taking deep-water samples near the mill, to assess (oreHHUBaTH)
pollution levels.

“Dives have shown that Baikal is a unique ecosystem that keeps itself in very good shape,” the vice
president of the Baikal preservation foundation told RIA Novosti.

Samples (o6pasupi) gathered by the Mir-1 and Mir 1 mini-submarines will undergo (to undergo -
nojBeprarbes) extensive study over a period of several years, Mikhail Borizin said.

Dr. Mikhail Grachyov, an expert on the evolution of the lake’s flora and fauna, said that Baikal contains
organisms that naturally absorb (to absorb - mornomars) crude oil.

The lake has been the focus of major environmental discussions in recent years, with change to an oil
pipeline route that was set to pass near Baikal’s shores.

The Baikal Pulp Mill, built in the mid-1960s, is owned by Continental Management, a subsidiary of
billionaire Oleg Deripaska’s industrial conglomerate Basic Element. The mill plans to switch to a closed
water cycle by September 10.

Baikal, a UNESCO World Heritage (Hacneaue) site, holds around 20 percent of the planet’s freshwater.

Buvibepume npasunvHuiti gapuanm omeema:.
11) The article is headlined ... .

a) Lake Baikal “unusually deep”
b) Lake Baikal “unusually clean”
c) Lake Baikal “unusually unclean”

12) The article is about ... .

a) the Baikal Pulp Mill operating on its shores
b) the Baikal preservation foundation
c) the present condition of the lakes flora and fauna found by environmental researches

13) The author starts by telling the reader that ... .

a) despite industrial waste the unique ecosystem has kept Baikal’s water cleaner
b) the unique ecosystem has failed to keep Baikal’s water cleaner
c) Baikal organisms absorb crude oil and industrial waste

14) According to the text ... .

a) Baikal doesn’t contain organisms that naturally absorb crude oil
b) Baikal itself can keep its ecosystem
c) it was decided to grow some microorganisms in order to keep Baikal in very good shape

15) In conclusion it is stated that ... .
a) Baikal is a subsidiary of the industrial conglomerate Basic Element

b) one more pulp mill will be built on Baikal shores
c¢) Baikal holds around 20 percent of the planet’s freshwater

IIpoumume mexcm:
OUR PLANET EARTH

Today, our planet is in serious danger. Acid rains, global warming, air and water pollution,
overpopulation are the problems that threaten human life on Earth.
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Our forests are disappearing because they are cut down or burnt. If this trend continues, one day we
won't have enough oxygen to breathe.

The seas are in danger. They are filled with poison: industrial and nuclear waste, chemical fertilisers and
pesticides.

Every ten minutes one kind of animal, plant or insect dies out for ever. If nothing is done about it, one
million species that are alive today may soon become extinct.

Air pollution is another serious problem. In Cairo just breathing the air is dangerous — equivalent to
smoking two packs of cigarettes a day. The same holds true for many Russian cities.

Factories emit tons of harmful chemicals. These emissions have disastrous consequences for our planet.
They are the main reason for the greenhouse effect and acid rains.

Fortunately, it's not too late to solve these problems. We have the time, the money and even the
technology to make our planet a better, cleaner and safer place. We can plant trees and create parks for
endangered species. We can recycle litter. We can support green parties and put pressure on those in
power. Together we can save the planet and all of us with it.

Onpedenume, agnsiemcs au ciedyioujee 8biCKa3bleaHue:

a) UCTUHHBIM b) noxubIM C) B TEKCTE HET WH(OPMAITHH.

16) Today, our planet is in so serious danger that we can do nothing about it.

17) The air in many Russian cities is as dangerous as in Cairo.

Buvibepume npasunvhuili gapuanm omeema:.

18) Extinction is ... .

a) for ever b) for a while c) for a long time

19) Acid reins are caused by ... .

a) factories emissions b) extinction of the seas c) global warming

20) B tekcte Boipaxkenue greenhouse effect mepeBoaures kak

a) IEUCTBUS MAPTHH 3€JICHBIX

b) s dexTrBHBIE MEPOTIPUATHS TI0 03EIICHEHUIO IOMOB

C) MapHUKOBBIN 3P deKT

Il. Becena mo reme “Moscow” (Bec — 0,2).

Bbujer Ne 10
I. Tect Ne 10 (Bec Bompoca — 0,04).

Buvibepume npasunvhwiii 6apuanm omeema:
1) The ... method is very effective.
a) to describe b) describe c) described d) describing

2) Mike is ... boy in the group.
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a) more clever b) cleverer c) the most clever d) the cleverest

3) “Usually you type your essays.” — “Yes, but today I ... it. Something’s wrong with my computer.”
a) wrote b) writes c) am writing d) write

4) They always ... most of their products on the home market.

a) sell b) are selling c) have sold d) sells

5) He insisted on ... the contract immediately.

a) signing b) the signing ¢) being signed d) having been signed

6) Sometimes he publishes his articles in the Financial Times, ... ?

a) aren’t they b) doesn’t he c)isn’t he d) don’t he

7) ... she ever ... of changing her job?

a) has ... thought b) have ... thought c¢) does ... think d) did ... think
8) As I live far from the Institute I ... get up early.

a) may b) can ) must to d) have to

9) Our Marketing Director made us ... this specialized exhibition.

a) visited b) visiting c) to visit d) visit

10) The telegram ... by seven.

a) had delivered b) will have been delivered c) will deliver d) will have delivered
Hpoumume cmamosiro!

Large-scale military exhibition opens in Malaysia

A large-scale international exhibition of arms and military equipment, Defence (o6opona) Services Asia
(DSA)-2010, opened on Monday in Malaysia's capital, Kuala Lumpur, bringing together arms producers
and suppliers from all over the world.

DSA, which the organizers say is one of the fifth largest arms exhibitions in the world and the largest in
Asia, is being held for the 12th time.

"We are living in a very difficult time, which poses (to pose — npencraBisTh, BeIABUTaTh) new challenges
(mpobsiemsl), such as a terrorism threat (yrposa). All these problems require to be responded (to respond
— orBevarthb) with more and more modern and complicated technologies,”" Malaysian Defense Minister
Ahmad Zahid bin Hamidi said during the exhibition's opening ceremony.

More than 700 companies from over 30 countries are taking part in the exhibition. Russia, a major arms
producer, is also involved, with its participation organized by state technology corporation
Rostekhnologii. The country will show more than 260 military products, including elements of the
Smerch multiple rocket launcher - a fighting vehicle and a transporter loader.
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The Russian Federal Service for Military and Technical Cooperation said in a statement it considered
participation in the exhibition "an important stage in the development and strengthening of Russia's
business relations with foreign partners in the sphere of military-technical cooperation.”

A two-day international defense and security conference organized by the Malaysian Defense Ministry
will take place during the exhibition, which will run until April 22.

Buvibepume npasunvruili gapuanm omeema.
11) The article is about ... .

a) terrorism threat
b) military cooperation between Russia and Malaysia
¢) DSA exhibition

12) The author starts by writing that ... .

a) DSA exhibition brought together arms producers from Asia
b) Malaysia’s capital, Kuala Lumpur is the centre of producing military equipment
c) arms producers from different countries in the world came to the DSA exhibition

13) According to Malaysian Defense Minister new threats and problems ... .

a) require more and more exhibitions
b) make us develop new complex technologies
c) have been caused by modern and complicated technologies

14) The article goes on to say that Russia ... .

a) participates in the exhibition as well as other countries
b) is going to organize its own military exhibition being a major arms producer
c) does not carry cooperation in the sphere of military-technical cooperation

15) In conclusion the author writes that ... .
a) a defense and security conference will be held during the exhibition
b) Malaysian Defense Minister will miss a defense and security conference
¢) more than 700 companies are taking part in the exhibition
Upoumume mexkcm.
"SMOG" WAS INVENTED IN BRITAIN

It was in Britain that the word "smog" was first used (to describe a mixture of smoke and fog). As the
world's first industrialized country, its cities were the first to suffer this atmospheric condition. In the
19th century London's "pea-soupers” (thick smogs) became famous through descriptions of them in the
works of Charles Dickens and in the Sherlock Holmes stories. The situation in London reached its worst
point in 1952.

At the end of that year a particularly bad smog, which lasted for several days caused about 6,000 deaths.
Water pollution was also a problem. In the 19th century it was once suggested that the Houses of
Parliament should be wrapped in enormous wet sheets to protect those inside from the awful smell of
the River Thames. People who fell into the Thames were rushed to hospital to have their stomachs
pumped out!

Then, during the 1960s and 1970s, laws were passed which forbade the heating of homes with open coal
fires in city areas and which stopped much of the pollution from factories. At one time, a scene of fog
in a Hollywood film was all that was necessary to symbolize London. This image is now out of date,
and by the end of the 1970s it was said to be possible to catch fish in the Thames outside Parliament.
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However, as in the rest of western Europe, the great increase in the use of the motor car in the last quarter
of the 20th century has caused an increase in a new kind of air pollution. This problem has become so
serious that the television weather forecast now regularly issues warnings of "poor air quality”. On some
occasions it is bad enough to prompt official advice that certain people (such as asthma sufferers) should
not even leave their houses, and that nobody should take any vigorous exercise, such as jogging, out of
doors.

16) 3aBepuute npemiokenue: Britain cities suffered atmospheric condition because ... .
a) there were too many industrial enterprises in Britain

b) there were a lot of agricultural districts there

c) Charles Dickens described thick smogs in his works

Onpedenume, agnsemcs au ciedyroujee npeonodtcetue:
a) UCTUHHBIM b) noxubIM C) B TEKCTE HET WH(OPMAIIHH.

17) Britain laws didn’t permit the heating of homes with open coal fires in the city areas.
18) Now it’s all that is necessary to symbolize London in a Hollywood film is a scene of fog.

Buvibepume npasunivhbill 6apuanm omeema:
19) A new kind of air pollution in Europe is ... .

a) the use of coal while heating the homes
b) the use of wet sheets
c) the use of the motor car

20) It was suggested to wrap the Houses of Parliament in wet sheets in order ... .
a) to protect it from the flood of the River Thames
b) to protect it from water pollution

c) to protect it from the harmful smell
Il. Becena mo reme “Rubtsovsk” (Bec — 0,2).
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